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Please read the instructions carefully. You are allotted
5 minutes specifically for this purpose.
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1.Immediately fil the particulars on this page of the Test

1,991 gRAST & T UT W ARG faaxvr A/ wrel ard

Booklet with Blue / Black Ball Point Pen. Use of pencil is
strictly prohibited.

wWigT U9 ¥ Tw@bid R | A w1 9 [Qemd afia 2

.The Answer Sheet is kept inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fil in the particulars carefully.

2

. JAR UF 39 g gRAB B AT]L ITM B | TG ATUBT gqeA

IRTPT TET F1 BT WY A IR TF FAEE @R
AEaeryd e fqaRor R |

3.Thetest is of 3 hours duration.

3.

glen @ afy 3 e ¥

4.The Test Booklet consists of 180 questions. The maximum

marks are 720.

4

39 uerm gRA®T § 180 URT B | fwHAT 3fd 720 2 |

.There are three parts in the question paper A, B, C
consisting of Chemistry (45), Physics (45) and Biology
(90) questions. Each question is allotted 4 (four) marks for
correctresponse.

5.

9 gder giaet 9 |9 W A, B, C 2| e gedw Wi |
ara fagm (45), Mids 9@ (45), w@ Sfa fagm (90)
gzq 1 R w9l weAl @ i 9HE B U g™ b qE)
I @ I 4 @R) Fd FuilRa 53 13 ¥

.Candidates will be awarded marks as stated above in
Instructions No. 5 for correct response of each question. Vs
[one fourth (-1)] marks wil be deducted for indicating
incorrect response of each question. No deduction from the
total score will be made if no response is indicated for an
item in the answer sheet.

TR #1 AP FE S b Iy Suded e =1 5

3 FewgaR o 53 9N 9@ wed & Tad S| B
fad vai wm (-1) s foar s afs SR giaet #
frd ged @1 SR AE] faar v 8 @1 g gTwie | @Iy
FHerd T8 & TR

. There is only one comrect response for each question. Filling
up more than one response in any question will be treated
as wrong response and marks for wrong response will be
deducted accordingly as per instructions 6 above.

7

AP Y9 BT DA Ud & Wel SR 8| Th | e IR

9 W SW TAT STR AMET SRAM 3R SWRIEd Ay 6 B
JTAR iF Fre fad s |

Filling the Top-half of the OMR :

Use only Blue/Black ball point pen only for filling the
OMR. Do not use Gel / Ink / Felt pen as it might smudge
the OMR.

IFTHAIR (OMR) & HFuH-a1d A F1 4@ :
OMR & WA & fau daa fid/ad< df@ W &1 Sgam
BIRIT

. Write your Roll no. in the boxes given at the top left cormer of
your OMR with blue/black ball point pen. Also, darken the
corresponding bubbles with Blue/Black ball point pen only.
Also fill your roll no on the back side of your OMR in the
space provided (ifthe OMR is both side printed).

.OMR & 994 ®W €14 &1 A fgu 71y dfad # A1 A

TR N1 /w1dd did wrs< @ fofgv gor Fwg M ff B
NA/d1d 99 F uRA| OMR & N8 &) avp N AT Ao
Trg¥ fafeg (afd OMR gF1 avw s g3 21).

. Fill your Paper Code as mentioned on the Test Paper and
darken the corresponding bubble with Blue/Black ball point
pen.

.OMR UR U R His kg qem dwg Mol &1 /s

i I° |/ Bl BINIY |

10. If student does not fill his/her roll no. and paper code

correctly and properly, then his/her marks wil not be

displayed.

10 I fAendf g 9 A9 RMT IW B I IR SfAd

e &1 WRAT B 99 SABT aRonH e forar Saan |

11.Since it is not possible to erase and comrect pen filed

bubble, you are advised to be extremely careful while
darken the bubble corresponding to your answer.

1. 9f5 U9 & W Y M FemT R ggRTr ¥wa A 2

gaforg o Arae qde uA IAT B MAT Bl AR |

12.Neither try to erase / rub / scratch the option nor make the

Cross (X) mark on the option once filled. Do not scribble,
smudge, cut, tear, or wrinkle the OMR. Do not put any stray
marks or whitener anywhere onthe OMR.

12.0%®@ & 9 MAeN/A Y33 3 AR T & TAd (X) fasg &7

R | OMR &1 &1C 5 & BIS 7 & 7S 981 B qAT dIg )
farg a1 9% OMR R A& AMY|

13.If there is any discrepancy between the written data and the

bubbled datain your O MR, the bubbled data will be taken as
final.

13. I OMR ¥ B3 gdR & fory U arwst deon et Y rwst

# R & O et BU 3wt BT & AL A ST
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Choose the correct (V') answer:
1.

(CHEMISTRY

The reaction of C;H,CH=CHCH, with HBr produces:
(1) CGH5CHZ?HCH3 (2) CgH;CH,CH,CH,Br
Br

CH=CHCH,
) 4) CSHECIIHCH_.{C H,

Br
Br

In Duma's method for estimation of nitrogen 0.25g of an
organic compound gave 40 mL of nitrogen collected at
300 K temperature and 725 mm pessure. If the aqueous |
tension at 300 K is 25 mm, the percentage of nitrogen in |
the compound is : |

(1) 18.20 2) 16.76 |

(3) 15.76 (4) 17.36 I

1.

2,

The KSp of Ag,CrO,, AgCl, AgBr and Agl are respectively, | 3.

1.1%x107"2,1.8x 107°,5.0 x 1073, 8.3 x 10~"7. Which|
one of the following salts will precipitate last if AQNO, |
solution is added to the solution containing equal moles |
of NaCl, NaBr, Nal and Na,CrO,?

(1) AgCl (2) AgBr
(3) Ag,CrO4 @) Agl

to function as a/an :-
(1) Dryer (2) Buffering agent

(3) Antiseptic (4) Softner

|
|
|
|
Bithional is generally added to the soaps as an additive |
|
|
|
|
“Metals are usually not found as nitrates in their ores”. |
Out of the following two (a and b) reasons which is/are I
true for the above observation ? |
|
|
|
|
|
|
|
|
|
|
|

) Metal nitrates are highly unstable.

~

Metal nitrates are highly soluble in water.

aandb are false

~

aisfalse but b is true

aistrue but b is false

~

(a
(b
(1
)
3
4

) aand b are true

4

5

| W) SR BT T (V) B

CgH;CH=CHCH, @ HBr & 121 SAfAfshar 1 o1 8iar &
1) CSH5CHZ?HCH3
Br

(2) C4H.CH,CH,CH,Br

CH=CHCH,
3) 4) CaHECI:HCHzCH?,

Br
Br

TSSO 3MdHad . AT A # 0.25g Frafd AT
300 K A9 Td 725 mm T16 TR 40 mL AggIo |ufad gkl
21 3fe 300 K R 9197 <19 25 mm & 7 dife & Arseioe
B gfaed @ -

(1) 18.20

2) 16.76

(3) 15.76 (4) 17.36

Ag,CrO,, AgCI, AgBr 8k Agl & K et 1.1 x 1072,
1.8x107° 5.0x 107", 8.3 x 1077 & | f1 & & B <
o) e 3 A 3faeifid grm, afe AgNO, @1 faera
A Hiedl @ NaCl, NaBr, Nal 3R Na,CrO,H STell STrl 82

(1) AgCl (2) AgBr

(3) Ag,CrO4

IISATAS DI AHRIG: A H AR ST 8, S9 FATSi
BT B B
(1) YHdH (2) 39 UfeRIEE HH®b

(3) dfcRwEn (4) AP
“ITIU ATHIRIG: S0 3D & AI5gC & ©U H ol Uil
SR I

SR e T geor & fory fmferiRa
H 3 P19 AT g8l 87

(a) eTgal @ ATECT AfT R F |

(b) eTgstt & ATELT el # Sifey ferg |
(1) a3k b 7Tad 8

(2) a7ad & oif1b |8 &

(

(

4) Agl

d 31 BRI (a 3R b)

3) a ¥l & oifdhd b TAd
4) a3iRbweEl &
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6.

10.

1.

12.

13.

The correct bond order in the following species is:- I
(1) 0'<0, <0; (@ 0;<0, < 0¥ |
3) 0,< 0;< 0% @) 0¥*<0; <0, |
The species Ar, K" and Ca?* contain the same num berI
of electrons. In which order do their radii increase ?
(1) Ca* <Ar<K* (2) Ca* <K'<Ar

(3) K" <Ar< Ca? @) Ar<K'<Ca?

The activation energy of a reaction can be determined
from the slope of which of the following graphs ?

InK 1
(1) 4 vs. T 2) In Kvs.?
L
3 InK VS T (4) InKvs. T

Which of the following pairs of ions are isoelectronic and
isostructural?

(1) clo;, CO*

|
|
|
"
|8
|
|
|
|
|
|
dla.
|
|
(2) 8O3, NO, |
|

(3) Clo;, SO 4) cor, sor

An organic compound ‘X’ having molecular formula| 10.

CH,,0 yields phenyl hydrazone and gives negative |
response to the lodoform test and Tollen’s test. It|

produces n-pentane on reduction. ‘X’ could be :-
(1) 2-pentanone (2) 3-pentanone

(3) n-amyl alcohol (4) pentanal

Which of the following options represents the correct, 11.

bond order ?
(1) 0, <0,<0,
3) 0, <0,>0;

(2) 0, >0,< 0,
(4) 0, >0,> 0,

Treatment of cyclopentanone O with methyl

lithium gives which of the following species?
(1) Cyclopentanonyl cation

(2) Cyclopentanonyl radical

(3) Cyclopentanonyl biradical

(4) Cyclopentanonyl anion

The electrolytic reduction of nitrobenzene in strongly
acidic medium produces :-

(1) Azoxybenzene
(3) Aniline

(2) Azobenzene

(4) p-Aminophenol

=1 T # ety dIfe &1 98 %9 R

(1) 0;<0; <0; (2) 0,<0; <07

(3) 0;<0;<07 4) 0}'<0; <0,
TWefisT Ar, K* 3R Ca?* d selael=i &1 %=ar 994 2 | fod
HH H gD 3T 9¢ W& 8?2

(1) Ca* <Ar<K* (2) Ca* <K'<Ar

(3) K" <Ar< Ca? @) Ar<K'<Ca?
frfoRaa § 9 f5d 9% # T (slope) ¥ ifdfar @

Afhaer St &I FuiRa far ST Faar 2 |
In K 1

(1) ?VS.T 2 InKvs.?
L

3 st.? (4) InKvs. T

1 5 4 B AT AT BT JTH FHS AL Ud FHEREAHD
27

(1) clo;, CO* (2) SO, NO;

(3) CIO;, SO* (4) co*, SO

TP Plae A1 X | o] 93 CH,,0 8 i &
Bt BT SIoIM <dT 8 T SiTSIHIH URIeToT UG e lol=—TIeroy
P ufd FomTcHd B S9d JUEIT WR n-U=d <dT B
X B HHdT B :

(1) 2-U=+AE (2) 3-U=HAE

(3) n-UAA Teeplset @) A

faferRaa ® | S fAden ) ey Hife oT gerfar 82

(1) 0, <0,< 0,

(2) 0, >0,<0,

3) 0, <0,> O}

m&aﬁﬁ%ﬁm@:oaﬁ@ﬁmﬁm%@wﬁ

B B WIS g9 27

(4) 0, >0,> 0,

1) AgFAUCAAIA G

(
(2) AgFATUCAHII Holh
(3) HsFAUAMIS g

(4) TS aAUC AT SO

. U9 3T A H ATSGIEwIA BT dgd ATEcH 3uerdd
éﬂT%\’:-

ORSIESIEEIE]
(3) VAifer

(2) TSiE=IE
@) p-VHAmIHT
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14.

15.

16.

17.

18.

19.

20.

Magnetic moment 2.84 B.M. is given by :- I 14,
(At. nos, Ni =28, Ti =22, Cr=24, Co = 27) |
1) T 2) c* |
(3) Co* @) Ni** :
A given metal crystallizes out with a cubic structure having | 15.

edge length of 361 pm. If there are four metal atoms in |
one unit cell, what is the radius of one atom? |

(1) 127 pm (2) 80pm
(3) 108 pm (4) 40pm
Which of the following is the most correct electron | 16.

Hf" Hzra\

|

|

|

|

displacement for a nucleophilic reaction to take place? :
H |

Cl (2) HC~C= L |

H |

|

|

H H
~Cl @) HC—C=C- ca

Which one of the following electrolytes has the same | 17.

value of van't Hoff’s factor (i) as that of the Al(SO,), (if all |
are 100% ionised)? |

(1) K,;[Fe(CN)]
(3) K,[Fe(CN)]

(2) AI(NO,),
4) K, SO,
Nitrogen dioxide and sulphur dioxide have some 18.

properties in common. Which property is shown by one
of these compounds, but not by the other ?

(1) isareducing agent
(2) is soluble in water
(3) isused as afood-preservative

(4) forms ‘acid-rain’

structure is :-
" C%cm
H,C H cH,
(1) 8 2 12
(3 16 @4) 4
Solubility of the alkaline earth’s metal sulphates in water 20.

decreases in the sequence :-
(1) Ca> Sr>Ba>Mg
(3) Ba>Mg> Sr>Ca

(2) Sr>Ca>Mg > Ba

|
|
|
|
|
|
|
|
|
|
|
|
The total number of n-bond electrons in the following I
|
|
|
|
|
|
|
|
|
|
|
|
4) Mg>Ca>Sr>Ba |

aerg et 2.84 B.M. faad grar 87

(4. Ni = 28, Ti = 22, Cr = 24, Co = 27)
(1) T 2) c*
(3) Co* @) Ni**

T <Y TS g T AT # foveforId B B, 39 B
(fp=R) @1 orvaTg 361 pm © | Al TS Jf+e A H IR o1

URATY] & Al U URATY] B F3oar 272
(1) 127 pm (2) 80pm
(3) 108 pm (4) 40pm

BT fAfhar 89 & fory fF § 9§ @i a1 seldel=
faerTu e SareT W) 272

Hz/=\

frfoRad dga smacal § 9 fhas arve—8it JoTd (i) BT

A AL(SO,), ® 91 & (afe |l 100% mafid 8)?
(1) K,[Fe(CN)] (2) AI(NO,),

(3) K,[Fe(CN)] 4) K, SO,

SIS SIRIATASS Ud AohR SIRATRISS & HH 0T
A 8 | T W e U Ueb Al <2l ©§ Sfald

TR TET 87

(1) UMD B

(2) <o ® faoa &

(3) @ URReTH & w9 H SUANT fhar ST &
(4) ‘3rFeT P <ar ®

. FFrAfoRad damT § qof n-31dy gelagiAl o AT ©

H,C H H H
H.C /  \LCH
HZC/ H cH,
(1) 8 2 12
3) 16 4) 4

&Iy HaT eTgall @ Fehel Bl Siel H fdelddT &1 Tedl gail
P -

(1) Ca>Sr>Ba>Mg
(3) Ba>Mg> Sr>Ca

(2) Sr>Ca>Mg>Ba
(4) Mg>Ca> Sr>Ba
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21. Maximum bond angle at nitrogen is present in which ofI 21. 79 9 9 {5 TISEIoA WR STy BT AfHAH 282

22,

23.

24,

25.

26.

CH, Ph
L I
CHB—?—CHQ Ph-C - Ph

CH,
M (IT)

the following ? |
(1) NO, (2) NO; |
(3) NO; 4) NO, |

(1) NO, 2) NO;

(3) NO; 4) NO,

If the value of an equilibrium constant for a par’[icular| 22, Us a9y sifAfehar @1 wmyaver Reris 1.6 x 102 €, ar

reaction is 1.6 x 10", then at equilibrium the system
will contain :-
(1) mostly reactants

|
|
|
(2) mostly products |
(3) similar amounts of reactants products I

(4) all reactants |

The number of d-electrons in Fe?* (Z =26)is not equal | 23.

to the number of electrons in which one of the following?
(1) p-electronsinCl(Z=17)

(2) d-electronsinFe (Z = 26)

(3) p-electronsinNe (Z=10)

(4) s-electronsin Mg (Z=12)

ionisation shall give most stable carbonium ion?

H

~N
H,C._ CH-Cl

c-cl
(1) HC™ (I:H (2)

3

H
N
C-d
3 4
® o @

H,C<_H

C-dl
7~
H,C |

A device that converts energy of combustion of fuels like | 25.

hydrogen and methane, directly into electrical energy is |
known as :- |

(1) Electrolytic cell (2) Dynamo
(3) Ni-Cd cell (4) Fuel Cell

|
|
|
|
|
In which of the following compounds, then C - Cl bond | 24
|
|
|
|
|
|
|
|
|
|

ATRIGRT WR g & gr?

(1) AP IHBRE

(2) IRBIET: IS

(3) AIMHRDI Ud IUTGT DI FAH AT
(4) & SFHRSD

e o 9 s soaeHl @ W= Fe?t (Z = 26) ®
d-Soige =l &) GRAT & SRI6R A8l 82
(1) CI(Z=17)% p-3ctagi=l &

(2) Fe (Z=26)#d-3clagiHl &

(3) Ne (Z=10) # p-goragi=l &

4) Mg (Z=12)H s-SclagHl &

9 & 9 B 9 e | C - Cl 36y & IR A I
STET 3 <l 82

H\
H.C CH - Cl
Scoa
M HC” | )
CH,
H H.C_H
N
o) >c-a ’ >c _¢l
O,NH,c” H H,C

I8 IF Sl Blglor Ud M S RIS (S8H) BT 84 Soll
B WY faga ot § aRakid $=ar &, 98 e &

(1) fga sueae A« (2) SI=E
(3) Ni-Cd It 4) v (§W) T

Consider the following compounds Hyperconjugation | 26. =1 ¥ 31 {1 A1fires / A1RTepl # ffaigw =T uram Siar 272

occurs In :-

(e
(I

(1) Honly
(3) landlll

(2) llonly

|
|
|
|
|
|
|
|
|
|
|
|
|
(4) lonly |
|

- I
CHB—?—CHQ Ph-C - Ph

CH, Ph

CH,

() (1) (Im)
(1) ®ad Il § (2) ®ad l#
(3) IR NI# 4) dae | H
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27.

28.

29.

30.

31.

32,

The reaction

CH, CH,

| I
CH:i—CI—ONa+CH3CHZCl — CHs—?—O—CHZ—CHB ~NaCl

CH, CH,

!
|
|
|
|
|
is called :- |
(1) Williamson continuous etherification process I
(2) Etard reaction |
(3) Gatterman - Koch reaction I
(4) Williamson Synthesis |
Cobalt (1) chloride forms several octahedral complexes |
with ammonia. Which of the following will not give test of |
chloride ions with silver nitrate at 25°C ? |
(1) CoCl,-4NH, (2) CoCl,-5NH, |
(3) CoCl,6NH, (4) CoCly3NH, |
A mixture of gases contains H, and O, gases in the ratio I
of 1:4 (w/w). What is the molar ratio of the two gases in |
the mixture ? |
(1) 4:1 (2 16:1 |
@) 2:1 @4 1:4 |
Which of the following processes does not involve |
oxidation of iron ? |
(1) Decolourization of blue CuSO, solutution by iron I
(2) Formation of Fe(CO), from Fe |
(3) Liberation of H, from steam by iron at high I
temperature |
(4) Rusting of iron sheets |
Because of lanthanoid contraction, which of the following |
pairs of elements have nearly same atomic radii?
(Nubmers in the parenthesis are atomic numbers). |
(1) Zr(40)andNb (41) (2) Zr(40)and Hf (72) |
(3) Zr(40)and Ta (73) (4) Ti(22)and Zr(40) |
Which of the following statements is correct for a:
reversible process in a state of equilibrium ? |
(1) AG=2.30 RT log K |
(2) AG°=-2.30RTlogK I
(38) AG°=2.30RTlogK |
(4) DG =-.2.30 RT logK I
|
|
|

27.

CH, CH,

| I
CH:i—CI—ONa+CH3CHZCl — CHs—?—O—CHZ—CHB ~NaCl

28.
29
30.
31.

32.

CH, CH,
B AM T
(1) faferr=a aa SeRIHROT UhH
(2) scre st

(3) TIeRAF—I= 3rfafehar

(4) fafera=aa Feeryo

praree (1) FARTSS MR & A A= srewaa
et aaTdT 7 | fFforRad # & #19 Rieer igde @& |
25°CWR FARTS 3T HT GRET0T &} T2

(1) CoCl,4NH, (2) CoCl,5NH,

(3) CoCl,6NH, (4) CoCl,3NH,

. U 14 & AT HH, §9 O, 4 &7 3urd 1: 4 (W/w) € 1.

8107 # g9 <1 N1 BT HIeR 31U ©
(1) 4:1 2) 16: 1
3) 2:1 @) 1:4

fererfeaa uspdl & | foheaH SR 1 3iTeRfIpRor =8 BT
27

1) CuSO, & wiel fdeTa &I AT gR FEM &Il

2) Fed Fe(CO), &I g T

3) WY ¥ 3MRA §RI S&d d1Y WX BIgSIo BT fAdher
4) g &I e WR ST o= 1

TS @ H@Hdd & BRI 7 H W B I d@dl b W
DI TRATY] Y T FAM 87 (PISd H QT Ty AT
URHTY] AT 8).

(1) Zr(40)3RNb (41)  (2) Zr(40)3IRHf(72)

(3) Zr (40)3iR Ta (73) (4) Ti(22)3MR Zr (40)
frfaRad & 9 9 A1 BUF IHAYIT Uhd & ATRITeRe
% ford wEl 872

(1) AG = 2.30 RT log K

(2) AG°=-2.30 RT log K

(3) AG°=2.30RTlogK

(4) DG =-2.30RT log K

(
(
(
(
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33. The angular momentum of electronin ‘d’ orbital is equal I 33. ‘d’ FeTH H Soldeid BT BT [T & R § -

to:

| ) 2 n 2) 243 1
(1) 2 n (2 2.3 n | 12 .
®) 0n @ & n | @ on @) Jo n

34. The boiling point of 0.2 mol kg™ solution of X in water is | 34. X @ 0.2 mol kg™ STeita RicTE BT F@EHIH Y & FH—Hicrel
greater than equimolal solution of Y in water. Which one | et e @ o 2 A A D 1 B 39 AR

of the following statements is true in this case ? % ford W2l 87

(1) Molecular mass of X is greater than the molecular | (1) X1 3mfoas e, Y & snfdas s & e & |
mass of Y. |

(2) Molecular mass of Xis less than the molecularmass |~ (2) X T 3MM0dd ST, Y & 3nfoqd G e | B 2 |
of Y. 3) Y &1 STct # faaor Biar § siafe X # #1 uRad =&t

(3) Y is undergoing dissociation in water while X AT

(4) Xisundergoing dissociation is water. (4) X1 oret A B & |

35. The function of “Sodium pump” is a biological process 35. "AifeTd o @ forar ua Sifdds U B ST f i Sigedt
operating in each and every cell of all animals. Which of | @1 RT3 Ferferd B1cit 2 | 7171 # DI &1 Sifdss Fecayol

|
|
undergoes no change. I
|

the following biologically important ions is also a| MU 39 U &1 UCH &7
consituent of this pump? + .
entofthispump? L) Mg @ K
(1) Mg @ K N N
(3) Fe* (4) Ca® (3) Fe (4) Ca
36. Given:- 36. o M-
HQC\Q/CHa ch\QCHz HZCUCHZ HQC\Q/CHs ch\©¢cm HZCUCHZ
CH, CH, CH, CH, CH CH,
(1)

(m ()
39 ANDT B BTSSISHIGRT BT T BT FE HH 8 -
(1) N>11>1 @) N>11>1
@) 1>1>11 @) 1> 11>l
37. ursa YWRERice &1 gHtfad w9 1 fear T g,

{0 {m (1)
The enthalpy of the hydrogenation of these compounds
will be in the order as :-
(1 m>1>l @ Hn=>I=>l
(3) H=>1=>1l @ I1>1u=>1
37. The enolic form of ethyl acetoacetate as below has:-
hew s o sHen Ao HON 20N, 20 S HONC 0

Il
OH OC,H o OC,H
OH  OCH, o OC,H, ’ ’

$H §
(1) 16 Rar U 1 u1s 3may

1) 16 sigma bonds and 1 pi - bond

(1)

2) 9 sigma bonds and 2 pi - bonds . )
@ J (2) 9 AT Ud 2 Uig e
(3) 9 sigma bonds and 1 pi - bond (3) 9 R T 1 g T
(4) 18 sigma bonds and 2 pi - bonds

(4) 18 Ry\1 Ud 2 U3 31y
38. TSR 3R VHIFIUIS® 3t DIl Sig— =i I8t

38. Biodegradable polymer which can be produced from

glycine and aminocaproic acid is :- ST
(1) PHBV (2) Buna-N (1) PHBV (2) sg1-N
(3) Nylon6, 6 (4) Nylon 2-nylon6 (3) A6, 6 (4) TS 2- ATgATA 6

) T PMT Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058
Contact No : 011-41024601-05
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39. Which of the following species contains equal number ; 39. f=ferRad § J IR WS # 6—=iR n—aTTael &) Fw=n

40.

of o—and n—bonds :-
(1) XeO,

(3) CH,(CN),
Which of these statements about [Co(CN)]*" is true:-

(™

(2) (CN),
(4) HCO;

[Co(CN)6]3‘ has four unpaired electrons and will be
in a low-spin configuration.

[Co(CN)6]3‘ has four unpaired electrons and will be
in a high spin configuration.

@)

3)

a high-spin configurtion.
[Co(CN),]* has no unpaired electrons and will be in
a low-spin configuration.

)

|
|
|
|
|
|
|
|
|
|
|
|
[Co(CN)J* has no unpaired electrons and will be in |
|
|
|
|
|
|
|
|
|
|
|

41. Which one is not equal to zero for an ideal solution?
(1) AS,,,
(2) AV,
(3) AP =P cerved = Praoutt
(4) AH_
42. Which property of colloidal solution is independent of|
charge on the colloidal particles :- |
(1) Electrophoresis (2) Electro-osmosis |
(3) Tyndall effect (4) Coagulation I
43. Given :- |
CH, CH, I
CH, |
CH, |
@) 0] |
() (1) (1) |
Which of the given compounds can exhibit tautomerism? I
(1) landlll (2) ltandlll |
(3) I llandlll 4) landll |
44. When initial concentration of a reactant is doubled in a |

reaction, its half-life period is not affected. The order of |

the reaction is :- |
(1) First |
(2) Second I
(3) More than zero but less than first |
(4) Zero I

40

41.

42,

43.

44,

AIPMT-2015/Code #F
T 82
(1) XeO, (2) (CN),
(3) CH,(CN), (4) HCO,

[Co(CN) > & ford fr=1 & & &1 |1 P v 27

(1) [Co(CN),J* @& U =R RIfa gelag= & aor =
TIshoT fa=aTT BT |

(2) [Co(CN),J* & T TR 3YfHd Selagiv & a Sea
Yol fa=aTT BT |

(3) [Co(CN),J* & Ut TR 3Rgfad Selagld el &
Sod YT fawamd I |

(4) [Co(CN) > & U aR gfnd goagia =&f & qer

=1 b T fa=ame BT |

et faerm & ford fhda A = & a_TeR” =81 grm?
(1) AS,,
@ AV_.
(3) AP =P pcerved = Praout
(4) AH_,,
Plcligs! (AT BT B AT 0T BlcAlgS! BN BT AT A
ESCERS
(1) g BT Haed (2) RIA—URTERYT
(3) fevset yura (4) Thad
oy -
CH, CH,
CH,
(';<CH3 CH,
CH,

O O O

M (IT) (1)
At # | B Feagadr I 82
(1) 1l ) gl
@) 1, 11TElll @) 1Tg1l
HAAfpar # Al AWPRD B URMIS Alad BT gIAT fbar

ST 8 A1 3 SIAfHaT 1 Sref-amgerer wrfad el B 2 |
39 ifafshar @ Hife 2 -

(1) e
(2) fe<a
(3) I A 3D oIfhd YA H A
4) I
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45. A single compound of the structure :-
CH, (IIH3

OHC~~_C
O \C/C%
1 g O

is obtainable from ozonolysis of which of the following

cyclic compounds ?
H.C_ CH,

H,C
M Q @ @
H,C
CH, H.C
(3) q 4) \D—CHS
CH,

45. 791 ¥ O fog gy Afe & JASIHIBRIT F Uhd AfRTdh

qd AE\f? @Iﬂiﬁ NG E ?]—5’%\5:
CH, (IIH3

OHC~~_C
O \C/C%
1 g O

H,C
(" \Q @
H,C
CH, H.C
3) (4) \@*CHS
CH,

H,C_ CH,

46. Which of the following endoparasites of humans does | 46.

show viviparity ?
(1) Enterobius vermicularis
(2) Trichinella spiralis

(3) Ascaris lumbricoides

(

4) Ancylostoma duodenale

47. Cryopreservation of gametes of threatened species i

viable and fertile condition can be referred to as:-
(1) Advanced ex-situ conservation of biodiversity
(2) Insitu conservation by sacred groves

(3) In situ cryo-conservation of biodiversity

(

4) In situ conservation of biodiversity

48. Which one one of the following matchesis correct ?

(1) Alternaria Sexual
Reproduction
absent

(2) Mucor Reproduction  Ascomycetes

by conjugation

(3) Agaricus Parasitic
fungus
(4) Phytophthora Aseptate

mycelium

Deuteromycetes

Basidiomycetes

Basidiomycetes

|
|
|
|
|
|
|
n| 47.
|
|
|
|
|
|
|
I 48.
|
|
|
|
|
|
|
|
|
|
|
|
|
|

A4l & fAfeRad oid: WRONfIAT | | BI—aT1 FoiassTdhdl
g3 a1 872

1) URIfa¥ gifiepetRe

2) CISfdeTar wgRferd

3) WHRA ARIPISSIoT

(
(
(
(

4) Vel gaNTSTdt

HHCTa~ TIRNST & D] BT Siigerd iR STaem Rerfr
H FATATI—TRRETT BT Hel ST Fhdl © -

(1) STAfAIerar &1 I=Td ITEALAT HRETT

(2) Ufa= I §RT TGLRAT HRET0T

(3) Stafafaerar &1 weRere AT gRkxeror

(4) Stafafderar &1 waven ERefor

fFeferRad & $I94AT U HeT Aferd 87

(1) emeeRar - fofvfY ot SUNEININEIN
JrguRerd

(2) =R YA ERT R AIgRIETST
PNEG]

(3) aFIR&wA RS ERIISNICIMREI]
DHAD

(4) BICTURIRT UCEH Bdd  SRNTSAMRRICS
NI
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49.

50.

51.

52.

53.

54.

55.

56.

Minerals known to be required in large amounts for plant
growth include :-

(1) calcium, magnesium, manganese, copper

(2) potassium, phosphorus, selenium, boron

(3) magnesium, sulphur, iron, zinc

(4) phosphorus, potassium, sulphur, calcium

Which of the following enhances or induces fusion of
protoplasts ?

(1) Polyethylene glycol and sodium nitrate

(2) 1AA and kinetin

(3) 1AA and gibberellins

(4) Sodium chloride and potassium chloride

Which of these is not an important component of
initiation of parturition in humans ?

(1) Synthesis of prostaglandins
(2) Release of oxytocin
(3) Release of prolactin

(4) Increase in estrogen and progesterone ratio

In which of the following gametophyte is not
independent free living ?

(1) Marchantia (2) Pteris

(3) Pinus (4) Funaria

Which of the following is not a sexually transmitted
disease ?

(1) Acquired Immuno Deficiency Syndrome (AIDS)
(2) Trichomoniasis

(3) Encephalitis

(4) Syphilis

Leaves become modified into spinesiin :-
(1) Pea (2) Onion

(3) Silk Cotton (4) Opuntia

Which one gives the most valid and recent explanation
for stomatal movements ?

(1) Potassium influx and efflux

(2) Starch hydrolysis

(3) Guard cell photosynthesis

(4) Transpiration

Which of the following had the smallest brain capacity
(1) Homo sapiens

(2) Homo neanderthalensis

(3) Homo habilis

(4) Homo erectus

I 49.
|
|
|
|
|
|

| 50.

| 52.

I 55.

|
|
|
|
|
|
5
|
|
|
|
|

53.

54.

|
|
|
|
|
| 56.
|
|
|
|
|

urey gfg & forg aifdre A # eifera @i 319 | 27
(1) Dfeerad, HFNRRrM, HTS, IR

(2) UreRrM, BepRE, Ricifad, IRiA

(3) FIRRM, Weuw, dlg, Ni®

(4) BrpRE, TCRRIE, Few, Hicerem
fr=forRaa @ 9 &9, Sltagar & Fara & gerar a1 URd
PHRAT B°

(1) dfeiuefiel™ Targaia iR AfeaH AggT

(2) 1AA IR BT

(3) 1AA iR freRfer

(4) AfSTH FERTSS IR UM FARSS

famforRad % < AFal g o ufshar & IRT & forg uah
Ag@yul g T8l BIdT?

(1) IR~ BT AT

(2) SiTeRieIRET @1 fFEfaa

(3) wrefae 1 Fgfam

(4) STEISA 3R UOICIIA T 3 glg

ffaRad § 9§ fhaa JHeIgRg Td= qad <& arel
& BIa?

(1) HRB=RT 2) <R\

(3) T (4) iR

fFfoRad 4 |4 dF—A1 I i wu A [T T8
BIeT?

(1) TS SREASBRIGHT RigiH (AIDS)

(2) TIEHMIFTRRT

(3) vatharsicw

@) fufpfer

frferRRaa § & foa# ufkrit, wier # uRafda 81 ol 87
(1) FeR ) =

(3) Rae® dic (4) 3Maferr

I gad & forg, f=faRad & 9 &9, 99 99 3R
T IRAT BT &7

1) UM ST SR df T

3) R PIRHT YHIRAZIT]

(
(
(
(4) arIST=
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57.

58.

59.

60.

61.

62.

63.

64.

High value of BOD (Biochemical Oxygen Demand)| 57. BOD (S1a INRIfA® RISt A1) @ S&d A9 9 dad

indicates that :- |
(1) Water is highly polluted |
(2) Water is less polluted |
(3) Consumption of organic matter in the water is higher |

by the microbes |
(4) Wateris pure |
Sliding filament theory can be best explained as :- |
(1) Actin and Myosin filaments shorten and slide pass|

each other |

(2) Actin and Myosin filaments do not shorten but rather |
slide pass each other

(3) When myofilaments slide pass each other, Myosin |
filaments shorten while Actin filaments do not
shorten

(4) When myofilaments slide pass each other Actin
filaments shorten while Myosin filament do not
shorten

even in the total darkness because of :-
(1) Vestibular apparatus (2) Tectorial membrane

(3) Organ of corti (4) Cochlea

A man with blood group ‘A’marries a woman with blood | 60.

group ‘B’. What are all the possible blood groups of|
their offsprings ? |

(1) A,B and AB only (2) A,B,ABand O

(3) Oonly (4) AandB only
Typical growth curve in plants is :- 61.
(1) Linear (2) Stair-steps shaped

(3) Parabolic (4) Sigmoid

The UN Conference of Parties on climate change in | 62.

the year 2011 was held in :-

(1) South Africa (2) Peru
(3) Qatar (4) Poland

(1) Somatic embryogenesis
(2) Protoplast fusion

(3) Embryo rescue

(4) Somatic hybridization

How many pairs of contrasting characters in pea plants | 64.

were studied by Mendel in his experiments ?
(1) Six
(3) Seven

(2) Eight
(4) Five

58.

|
|
|
|
|
|
A gymnast is able to balance his body upside down | 59.
|
|
|
|

|
|
|
|
|
|
|
|
|
|
A technique of micropropagationis :- | 63.
|
|
|
|
|
|
|
|
|
|

Date-03/05/2015
fArerar g f& -
(1) U= A UGAT ¥ |
(2) U ®H UgAd B |
(3) |t Sal gRT UMl H drafa uared &1 @ud 31e |
(@) Tl g B |

AT fhaie Rigiad &) Jad e AT &l ol

Ah §

(1) Ve MR ARARE fbarict &) ovTs &8 81 ol 8,
3R T Th—gER W el Y ST 98 O 2 |

(2) Ve 3R ARRE fhariel @ a=1E $F A8 8,
afed T T&h AR BT Ao Y ST 9 O 2 |

(3) 19 ARITheTHE Tdh ¥R WR fhaed gU 3R 9¢ ST
2, g fharriel & o s &4 8l Sl 8, Safd
AR el & o Te B8 T8l B |

(4) 19 ARNBATHE TP TR & HUR [hAeAd gY are SId
g, Ufdes fhoiic &1 oTwTe &9 8 Sirdl 8, Siafd
AR fheiel & ow e B8 T8l B |

BTl QG AT $1g @Afdd g8 AR R 3ERT 81 g 1

3T TRR BT el IR & Hford fhdds BIROT IR T 87

(1) ETOT SYBROT (2) BlE® (CaciRad) fareetl

(3) BIcT 3T (4) Difderar

R I A qTelT U Afdd iR a7 ‘B’ arell U AT |

faarg ®Rar 2 | S99 gl & 9T 9 SfeR T pe—

BH?

(1) ®ast AB Td AB

2) AB,ABTd O
(3) ®aat O (4) ®aa1 ATIB
uredl # Urefid gfg 9% dar 87
(1) & (2) AUF—UE IATHTRA
(3) WRadH 4) Rrrsur
42011 5 H URecs TR geli @ UN TS def gg ofl?
(1) <f&ror 3mpTadT ) T
(3) B (4) drive
JeA UL B UH ThIDh ©
(1) BT YorsT=
(2) Sagead Helda
(3) 9T S&R
(4) P1REw HHT
HAUSH = 3MUH YANT # Hex & die # faww oteron & fohae
Il BT eI b om?
(1) ®: 2) 3T
(3) @) dfa
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65.

66.

67.

68.

69.

70.

.

® é‘ K C‘i\A G, is the floral formula of :-
(1) Sesbania (2) Petunia
(3) Brassica (4) Allium

The crops engineered for glyphosate are resistant/ | 6

tolerant to :-
(1) Bacteria (2) Insects
(3) Herbicides (4) Fungi

(1) Goblet cells are presentin the mucosa of intestine

|
|
|
|
|
|
|
|
Which of the following statements is not correct? I
|
and secrete mucus |

(2) Oxyntic cells are present in the mucosa of stomach |
and secrete HCI. :

(3) Acini are present in the pancreas and secrete |
carboxypeptidase |

|

(4) Brunner’s glands are present in the submucosa of
stomach and secrete pepsinogen

In sea urchin DNA, which is double stranded, 17% ofI 68.

the bases were shown to be cytosine. The percentages |
of the other three bases expected to be present in this |
DNA are :- |
(1) G 17%, A16.5%, T 32.5% |
(2) G 17%, A 33%, T 33% |
(3) G 8.5%, A50%, T 24.5% I
(4) G 34%,A24.5%, T 24.5% |

In Bt cotton, the Bt toxin present in plant tissue as| 69.

pro-toxin is converted into active toxin due to :-

(1) Acidic pH of the insect gut
(2) Action of gut micro-organisms

(3) Presence of conversion factors in insect gut

Cytochromes are found in :-
(1) Outer wall of mitochondria
(2) Cristae of mitochondria

(3) Lysosomes

|
|
|
|
|
(4) Alkaline pH of the insect gut I
|
|
|
|
|
(4) Matrix of mitochondria |

Read the following five statements (A to E) and select | 71.

the option with all correct statements :- |
(A) Mosses and Lichens are the first organisms to |

colonise a bare rock. |
(B) Selaginella is a homosporous pteridophyte I
(C) Coralloid roots in Cycas have VAM |
(D) Main plant body in bryophytes is gametophytic, |

whereas in pteridophytes it is sporophytic |

65. o Sg‘ K Ci,)\AS Gy g = &?

(1) Rreafaar 2) facfrar

(3) sirepT (4) uferzm

TARHRIC & oY JAFRIFBT Bt fhasy ufoRel / wg=eiiar
g7

(1) Sharo (2) e
(3) =MD (4) PaD
ferferRad oMl o W PIar Terd 27

(1) B (Mic) BIRTHIY TF & FDHIAT (IHDBN) H
Rerd B & T ¥ (TSI HT 19 BT B |

(2) 3reror (3iffasafred) BIRTHTY AR & RIHT
(zeifSTaT) # Rerd BXcll € T BREIaAIR® 37 BT
BT Bl B |

(3) TeEdTSd (RH) sraTerd # Rerd B 7 &R

HTEIRIUteSST & T B 2 |
(4) R TN AR & HIRIPIAT (STTTifSTemn) # Rera
BT T UfSAToT &7 1 PRl ® |
|qel 31 & DNA ¥, Sil feepusferd gidr €, 17% 99
AFERE & f@e 77| g9 DNA # &= o9 oxf &
TR fereraar aar gnfi?
(1) G 17%, A16.5%, T 32.5%
2) G 17%, A33%, T 33%
(3) G 8.5%, A50%, T 24.5%
(4) G 34%, A24.5%, T 24.5%

Bt HUNT H UIGY $Hdd H Wd AMMAY & wU H IuRerd

Bt a1fay, vas foramefier snfay & wu # for HROT 9gerar 27

(1) @IC T JMMER el B AT pH & HROT

(2) MER el & gedoial dI fohar |

(3) BIT DI 3MBR Tell H FATKIRYT YUIDI B IURART &
BHROT

(4) DI B JAERA il & AR pH & HIRT

WIECIhMA Uy I & -

(1) ATgeIBifvgar o ares MRy #

(2) WsCIBifvgar 31 fare (o)

(3) ANl (FadEN) H

(4) AP & Hooll |

frfaRaa dig w9 (A FE) ufed 3ik W+ 981wl

qretl fdeed g :

(A) w19 3R gD fell 779 e R a9 dTel Ugdl
S B & |

(B) RrifSTe va & fawie SReMmse ¢ |

(C) WIS®HH &I yarerel § VAM BIaT 2 |

(D) TSy ¥ H UM FHehIG AT BIdT 8, STdih CREbIse
# g o] S i B
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72,

73.

74,

75.

76.

7.

78.

(E) In gymnosperms, male and female gametophytes
are present within sporangia located on sporophyte

(1) (B),(C)and (D) (2) (A), (D)and (E)
(3) (B), (C)and (E) (4) (A),(C)and (D) |
Which one of the following is correct ? |
(1) Serum = Blood + Fibrinogen |
(2) Lymph = Plasma + RBC + WBC |
(3) Blood = Plasma + RBC + WBC+ Platelets I
(4) Plasma = Blood — Lymphocytes |
|
|
|
|

The movement of a gene from one linkage group to | 73

another is called :-
(1) Duplication (2) Translocation

(3) Crossing over (4) Inversion

Which body of the Government of India regulates GM | 74.

research and safety of introducing GM organisms for |
public services ? |
(1) Indian Council of Agricultural Research

(2) Genetic Engineering Approval Committee

(3) Research Committee on Genetic Manipulation
(4) Bio-safety committee

Rachel Carson’s famous book “Silent Spring” is related | 79

to :-

(1) Noise pollution

(2) Population explosion

(3) Ecosystem management

(4) Pesticide pollution

Gastric juice of infants contains :-
(1) nuclease, pepsinogen, lipase

(2) pepsinogen, lipase, rennin

(3) amylase, rennin, pepsinogen

(4) maltase, pepsinogen, rennin |

Which of the following is not one of the prime health| 77.

risks associated with greater UV radiation through the |
atmosphere due to depletion of stratospheric ozone? |
(1) Reduced Immune System

(2) Damage to eyes

(3) Increased liver cancer

(4) Increased skin cancer

(1) Ovum before fertilization
2

2)
(3) Sperm after fertilization
(4)

|
|
|
|
Capacitation refers to changes in the :- |
|
|
Ovum after fertilization |

|

|

4) Sperm before fertilization

(E) SFTgRIESIl | R & #IGT PGS dISI] S
drorroy enferat § Sufkerd g 2|

1) (B), (C)3iR (D) (2) (A), (D)3 (E)

3) (B), (C) ¥R (E) 4) (A), (C)3IR(D)

frrferRad # - Bi=r 9&) 82

(1) IRA = BER + BISIHATS

(2) for® = T + RBC + WBC

(3) SR = wirHT + RBC + WBC + faw]

(4) wITSHT = BfeR — forpraTse (ARADT)

S & b W GER Aeel W8 W Iel Pl T HeT SIdl

27

(1) gferegor (2) IR

(3) S faf (4) wfrea=

IR WRBR BT DI AT 61 59 Fal & forg GM o™ 3R

GM Sfiat & wad+ & et &I af=a axar 82

(1) AR Y srgefen ey

(2) 3gaRTe SofaRY wefd Aty

(3) AR uRare @ iy |k

(4) Sla—gRe |AfT

el HRE b URTg Yo "HIRa aa=" (drgel~< )

BT Y B

(1) ¥R T

(2) STEE fapie

(3) uRa= Yaer

(4) drewHTRN Ugyor

Rrg & MRgd (Tox) 79 # 81 2 -

(1) ~IfFATST, YfCTATST, ATSUS

(2) uftaIoH, arsyus, X+

(3) UHIgES, X, Uftq=TST

(4) AT, UftaATS, X

FHATY HSS DI TSI B & & PR dIYAS H SeaaR

UV fafeRor 31 Haferd FreafaRad gqra waerg Siiear 3

A BIF—4T T 81 272

(1) UfeReTT—d= &1 g

(2) == @ e

(3) T PR H g

(4) A HIR H gy

AT (HNRICYH) fhad ggerd 89 &I garar g7

1) Y= ¥ gg 3fem A

2) Y= & geerd siem |

3) f=a & gard Eprof A

4)

e & qd gehro] A

(
(
(
(
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Date-03/05/2015 APMT-2015/Code #F
79. Most animals are tree dwellers in a:- I 79. SIS Sig gell IR UTY S ®
(1) Thornwoodland | (1) B FISHT STl |
(2) Temperate deciduous forest | (2) =fraryor gofurel Sirett
(3) Tropical rain forest | (3) Swrhfede auf =i |
(4) Coniferous forest | (4) THERY (BIFTHRE) =1 H
80. True nucleus is absent in :- | 80. w1 Bew frerd IR BIAT 572
(1) Mucor (2) Vaucheria I (1) X (2) dsafar
(3) Volvox (4) Anabaena | (3) difcaras (4) T
81. Glenoid cavity articulates :- | 81. TS BT (3 T8T) sl ® :
(1) Scapula with acromion | (1) THYeT 3R FdHe (ThIfH)
(2) Clavicle with scapula | (2) FeIfdda MR THYel
(3) Humerus with scapula | (3) BIHRY 3R Yl
(4) Clavicle with acromion I (4) FIfddpd 3R FHGHS (THIFI)
82. Transmission tissue is characteristic feature of :- | 82. TR Hdd [hABT 3ffeeror 87
(1) Solid style (2) Dry stigma | (1) 3 afdaT (2) b afidrr
(3) Wet stigma (4) Hollow style | (3) 3ms afcterr (4) @rEen afdar
83. DNAis notpresentin :- | 83. fa=foiRaa # & fa=d DNA 1@l grar?
(1) Ribosomes (2) Nucleus | (1) JrsarEM 2) d=F
(3) Mitochondria (4) Chloroplast | (3) HABIOTRT @) eRea®
84. Gene regulation governing lactose operon of E.colithatI 84. E.coli & SIIF AR &7 MI5v B+ arall ool
involves the lac | gene product is : | R I o IGﬂ?{—mr\ﬁ o HFTA?FIT:% g
(1) Negati\t/et?:rc]isigrcii;t(i:‘i)tr)]le because repressor protein | (1) FITHD sﬁ‘\’ﬁﬁzﬂ;ﬁﬂglg TATHIRY UISH TeE
prevents IR IE A
(2) Negative and repre_ssible because repressor proteinI ) ih,Ulchdn @%—\, THTRR) crui%o STHT U 3’4—21?'@—“‘
prevents transcription | T B 2 D)
(3) Feedback !nhibition bec_ause excess_of_ | (3) TROT S BRSS! ST § T T &
B-galactosidase can switch off trascription | g : d
4) t:I?osl,iti\;e and inducible because it can be induced | ) :?%Tlm TS T8 claeTs g URd fhar
y lactose
85. Which of the following does not favour the formation of | 85. fAmfeRad & & b1 9 A1 § TG A I b1 A
large quantities of dilute urine ? | &l DRAT?
(1) Caffeine | (1) b
(2) Renin I (2) X
(3) Atrial-natriuretic factor | S; W Aferfed BR®
(4) Alcohol Yeplele
86. What causes a green plant exposed to the light on only | 86. TP ERA U1 BT ST TR dafet BT TR | B STell T

one side, to bend toward the source of light as it grows ? |
(1) Green plants seek light because they are |
phototropic |
(2) Light stimulates plant cells on the lighted side to |
grow faster I
(3) Auxin accumulates on the shaded side,stimulating |
greater cell elongation there. |

(4) Green plants need light to perform photosynthesis |

1S9 fr=foRed # 9 @1 gfg BF R e S @ iR

S[HAT 272

(1) BRT UTeY YHTeT ST Wiowd & aifd I Tehrergad et 2 |

(2) UBTRI, IR I¥TeT dTell UTGY DIRIDBIAT DT STUETTdHd
ol 9 gfg o1 & oy SeEia a=ar 2

(3) BT dTell I WR SATfITT ST 81 ST © Wl 98f W
PIRTHTSAT H TR fdreh STEThROT HAT 2 |

(4) BRT UTGUT BT UPBIT HINUT & foTq TehTeT Bl TaRIDH!
Il & |
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AIPMT-2015/Code #F Date-03/05/2015
87. Nuclearenvelope is a derivative of :- I 87. (IS (BwaId) ARV eI~ BT B -
(1) Membrane of Golgi complex | (1) viteoh affs a1 fBreeh |
(2) Microtubules | (2) gesAtTDmIsl 4
(3) Rough endoplasmic reticulum I (3) W&t sl SifeldT (TSIt HS NSdherH)
(4) Smooth endoplasmic reticulum | (4) freT eIerfoned eqHerd (Sidaadl Sferdn) |
88. Select the correct option :- | 88. W& fawey gfg
| I | | T
(a) | Synapsis aligns (i) |Anaphase-li I (@) |Rrifoess, o TUREET B (OB g iiavd]
homologous ifidee BT T 2
chromosomes I
(b) | Synthesis of RNA and (i) |Zygotene - - ~
protein | (b) |RNA 3k wid= w1 sgarvor| () |Srgad=
(c) |Action of enzyme (iii) | G,-phase I (©) |voew QT B (i) | G-y
recombinase T
(d) | Centromeres do not (iv) |Anaphase-| | @ = = o ™ Ik I
separate but chromatids | W IR o
move towards opposite | frg prifes famdiia ga @
poles I W T B T T
(W) |Pchytene ™ v
|
b d b d
(?) (...) (© (. ) | (?) (...) (© (. )
(1 () (i) ¢ @) | (1 () (i) ¢) @)
@ @O @ © W | @ @O @ v W
3) () (i) @) ) | 3) () (i) V) )
@) (i) @ (i) @) | @ (i) @ (i) @)
89. Keelis the characteristic feature of flower of :- | 89. @iet (Aicrer) faraes g b arfireteror 72
(1) Indigofera 2) Aloe () =S ) Tl
(3) Tomato (4) Tulip I (3) THICR @) <gfery
90. Perigynous flowers are foundin :- | 90. URSIRT g fFa+ Url Wi 272
(1) Cucumber (2) Chinarose | (1) ERT (2) =TT IS
(3) Rose (4) Guava | (3) etrs (4) 3F_g
91. Achemical signal that has both endocrine and neural | 91. 98 INRIM® Hdbd HH—WT § Rrdd! 3id: S1d iR
roles is? | AR ST GBR B AT B 82
(1) Calcitonin (2) Epinephrine | (1) i (2) wffha
(3) Cortisol (4) Melatonin I (3) difddra @) AT
92. In which of the following both pairs have correct freferRad @ & foad AT w8l waifora 22
combination :- | (1) R JHRET0T fFrarg afRkReror
(1) Insitu conservation Cryopreservation | IR AReT0T TONT IR
Ex situ conservation :  Wildlife Sanctuary | (2) TR RETT 97 5
(2) Insitu conservation Seed Bank | e — TSR T
Ex §itu conserva.tion : N.ational Park I (3) I R -
(3) In situ conservation Tissue culture .
. o | TEIRAT TRETT gfa= Sga+q
Ex situ conservation :  Sacred groves | )
(4) Insitu conservation National Park | (4) SR W&TUT TS S
Ex situ conservation :  Botanical Garden | ATEIRAT WHRETOT CINESIRERR
|
Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058
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93.

94,

95.

96.

97.

98.

99.

100.

101.

HIV that causes AIDS, first starts destroying: I
(1) Leucocytes |
(2) Helper T- Lymphocytes |
(8) Thrombocytes |
(4) B-Lymphocytes |
Hysteresctomy is surgical removal of : |
(1) Prostate gland (2) Vas-deference |
(3) Mammary glands (4) Uterus I
Removal of proximal convoluted tubule from the nephron |
will result in: |
(1) More concentrated urine |
(2) No change in quality and quantity of urine |
(3) No urine formation |
(4) More diluted urine |
A major characteristic of the monocot root is the I
presence of : |
(1) Scattered vascular bundles |
(2) Vasculature without cambium |
(3) Cambium sandwiched between phloem and xylem |
along the radius |
(4) Open vascular bundles |
Which of the following characteristics is mainly I
responsible for diversification of insects on land ? |
(1) Bilateral symmetry (2) Exoskeleton |
(3) Eyes (4) Segmentation |
Which of the following cells during gametogenesis is |
normally dipoid?
(1) Spermatid |
(2) Spermatogonia I
(3) Secondary polar body |
(4) Primary polar body |
The structures that are formed by stacking of organized |
flattened membranous sacs in the chloroplasts are : |
(1) Grana (2) Stromalamellae |
(3) Stroma (4) Cristae |
The chromosomes in which centromere is situated close I
to one end are: |
(1) Acrocentric |
(3) Sub-metacentric |
In aring girdled plant: |
(1) The root dies first I
|
|
|

(2) Telocentric
(4) Metacentric

(2) The shoot and root die together
(3) Neither root nor shoot will die
(4) The shoot dies first

93.

94,

95.

96.

97.

98.

99.

AIPMT-2015/Code #F
AIDS &cd= B arelT HIV a9 Ugel < &Rl ©
(1) gPrTST Y

(2) TR T- foiwrargel &f

(3) oIS B

(4) B- foimrarsel &1

fRexael # Tredfhal gRT fhdd! e &) Hdrer
(1) vice Ry (2) geparEd

(3) ufet (4) g

WA (GFBIV]) H FHORY Hafeld AfTdT B PHIe I
feTet <= BT aRomH 81

(1) st &g 7

(2) IF B! IETET IR AE H Dl AR oI

(3) F—HIT &7 HHT

(4) arfere T 1A

T ST e BT Jed FervT e SuRerfer & 21T 872
(1) foR Haga qusd

(2) Hagq =g # Bftgqgd &1 Tl 8T

(3) dffgaw F3ar & IR®, SIS IR TAIgH & 91 ga1
BT 2

(4) Gl HagT qusd
frfaRead & 9 weId: -1 AT A R DIt &
fafqereuor & forg SaReRl 287

(1) fguredta wwfafa (2) SEABBIE

3) == (4) GEwe

GBS B GRI [FRATRIT H I DIF—H PIRDT AT
fgfore 8ielt 87

(1) TP (FAfes)

(2) YepTOLor (FRFCTam)

(3) fadivre gdt w1

(4) wrIfAe® gdl B

BRAgP H =UC f3eelIgH BIul & FaRerd acel Pl /T
HEl ST 87?
(1) 7=

(3) weH

(2) T Affel
@) e

100. I TorgE R R g va AR & wiY 2§, S

101.

PRI BT ST 27

(1) srufdga® (2) =T Bl
(3) STEIDB! (4) A=
TP gord &fSd urey H ¢

(1) 9t U8l Rl B

(2) WRIE AR o TH AT A &

(3) 7 @ Hal 3R 7 & WIg A

(4) WIE U8 A=Al &
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AIPMT-2015/Code #F Date-03/05/2015
102. Vertical distribution of different species occupying| 102. Si9 G A A= WRI W= Y8+ arell [ sfoar &
different levels in a biotic community is known as: | FeateR fIaRoT BT T BT Sar 27
(1) Stratification (2) Zonation (1) =R (2) Avseq
(3) Pyramid (4) Divergence (3) e W™ (4) STIERT

103.

104.

105.

106.

107.

108.

109.

|
|
|
Multiple alleles are present : |
(1) Atdifferentloci on the same chromosome |
(2) Atthe same locus of the chromosome |
(3) On non-sister chromatids |
(4) On different chromosomes I
The mass of living material at a trophic level at a
particular time is called : |
(1) Standing state |
(2) Net primary productivity |
(3) Standing crop |
(4) Gross primary productivity |
Which of the following animals is not viviparous? I
(1) Elephant |
(2) Platypus |
(3) Whale |
(4) Flying fox (Bat) |
In an ecosystem the rate of production of organic matter |
during photosynthesis is termed as:
(1) Gross primary productivity I
(2) Secondary productivity |
(3) Net productivity |
(4) Net primary productivity |
Erythropoiesis starts in : |
(1) Liver |
(2) Spleen |
(3) Red bone marrow :
(4) Kidney
Which is the most common mechanism of genetiC|
variation in the population of sexually reproducing |
organism? |
(1) Chromosomal aberrations |
(2) Geneticdrift |
(3) Recombination |
(4) Transduction I
Blood pressure in the mammalian aorta is maximum |
during : |
(1) Diastole of the right ventricle |
(2) Systole of the left ventricle |
(3) Diastole of the right atrium |
(4) Systole of the left atrium I
|

103.

104.

105.

106.

107.

108.

109.

Tg—JAADHA Bl IURT Bl 57

(1) T& & IoRgE & A= fa=guen =

(2) PR & UH B faguy v

(3) TR HEIeR ERGA )

(4) faf=T orgaT T

v REd 999 # U 99v R R Siifad ueret @
TR BT FIT Pal Sfidl 87

(1) TSI 3raer

(2) A e Iargdhar

(3) WS B

(4) FEHd UHHE IATEHAT

frrferRaa # | dI—aT Sig Aollausid 81 872

(1) s

(2) widw

(3) =

(4) S AHSI (T / THTES)

U aRa= § UPHT AU & SR FEHAd uered &
IATEH DI S BT RAT H-T ST 87

(1) A& UrIHE IATEH

(I REGIREASIEICE

(3) A ITEHAT

(4) S wrrfie Iargdar

TSt (TReATATERIN) &7 SR FHal Brar 27

(1) Fa(ferar) #

(2) =il (i) |

(3) Tt 1RRey Aworr H

(4) g%

iR IS dTel Sl &1 STEwET 3 SgaiRid fafi=ar
BT I AT UhH fferRad H | i a1 87

(1) oL fer

VARCIGCINCRECEE]

(3) grriTorT

(4) IRpHIT

TATRAT @ FErE-T (Qaiiel) # iR 9 fad ufhar &
SR A 31fd Bl 272

(1) =N el & SR (SHRTI) & SR
2) A el & gghEd b aRM
3

) <18 arfee & IR & <R

4) 91 3ifeie & ypad (RRerd) & SR

(
(
(
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AIPMT-2015/Code #F

110.

11.

112.

113.

114.

115.

116.

17.

When you hold your breath, which of the following gas | 110.

changes in blood would first lead to the urge to breathe?
(1) rising CO, concentration

(2) falling CO, concentration

(3) rising CO, and falling O, concentration

(4) falling O, concentration

Vascular bundles in monocotyledons are considered
closed because:

(1) Cambium is absent

(2) There are no vessels with perforations

(3) Xylem is surrounded all around by phloem

(4) A bundle sheath surrounds each bundle

Male gemetes are flagellated in :

(1) Anabaena
(3) Spirogyra

(2) Ectocarpus

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(4) Polysiphonia |

Which one of the following may require pollinators, but | 113.

is genetically similar to autogamy ?
(1) Xenogamy (2) Apogamy
(3) Cleistogamy (4) Geitonogamy

In ginger vegetative propagation occurs through: 114.
(1) Offsets (2) Bulbils
(3) Runners

Which one of the following is not an inclusion body | 115.

found in prokaryotes ?
(1) Cyanophycean granule
(2) Glycogen granule
(3) Polysome

|
|
|
|
|
|
(4) Rhizome |
|
|
|
|
|
(4) Phosphate granule |

A somatic cell that has just completed the S phase of | 116.

its cell cycle, as compared to gamete of the same|
species, has : |

(1) same number of chromosomes but twice the |
amount of DNA |

(2) twice the number of chromosomes and four times |
the amount of DNA |

(3) four times the number of chromosomes and twice |
the amount of DNA |

(4) twice the number of chromosomes and twice the |
amount of DNA |

Alleles are :

(1) true breeding homozygotes

2) different molecular forms of a gene
3) heterozygotes

(
(
(4) different phenotype

11.

112.

ST MY YT A Ahd 2, a9 R # f=falad # &
BT 9 fafam g emueT fiR 9 |9 o @ forg gRa
BT 872

(1) CO,, AT BT g& ST

(2) CO, wiear # fRrae

(3) CO,, el &l g1 3R O, Aigdr # FRrae

(4) O, wiear ¥ fiRrae

UhEISTI=N aredl § Hdgd 9usell Bl g dhal offdl 8,
Fifb:

(1) QeI SrgufRerd 8l 2 |

(2) S fogor arel aifgdrd w8t Bl

(3) SIS 99 TR% W FAIgH A foRT I5aT 7 |

(4) YAH IUEA BT Th JATe0E TR TG 2 |

fa N N

fferRad
(
(

# 3 e TR gre Hem B 27

) () vFcIPdY

) VIEVITTIN] (4) glferarg it
FrfeRad # | fhaH WRITUBRT @ rawdadr 8l dadl
2, IR I8 ATARIBd: WHYHT & A Bidll 8?2

—_

T

w

(1) RN (2) 3ragTHA

(3) FgHIcIURTTI (4) |l gt TRl
XD H BIRID Ui fbad gRT BT 87

(1) (2) YFBITPHI

(3) STRYE (4) yP=<
Uil H, FraferRad § & didr U& a1 fuvs,
& grIr SArar?

(1) ATSABISRITT Hor

(2) TATZPISI HT

(3) dfeira

(4) BIEBT HIT

U HIfd DT # ST 370 DIfRNam—ash o7 3pfi—andl

S-ureRert I Bl 8, SH WIRS & JHP DI Gl H—

(1) ORI B F&AT A Bl & <l DNA &1 /73T
I BT B |

(2) TOREAT BT AT YA EIcl & DNA 1 A3 AR AT
31fere BIell 2 |

(3) TORIHT B AT AR AT MAF B & AR DNA
HAET G BRI

(4) TOREET BT WA AT Bl & 3R DNA &1 A1 Y
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118. Select the correct matching in the following pairs:
(1) Smooth ER — Synthesis of lipids
(2) Rough ER - Synthesis of glycogen
(3) Rough ER — Oxidation of fatty acids
(4) Smooth ER — Oxidation of phospholipids

119. The terga, sterna and pleura of cockroach body ar
joined by :
(1) Muscular tissue (2) Arthrodial membrane
(3) Cartilage (4) Cementing glue

120.
combination without any exception?
Characteristics Class

(1) Mouth ventral, gills without
operculum; skin with placoid

scales; persistent notochord

(2) Sucking and circular mouth;  Cyclostomata
jaws absent, integument
without scales; paired
appendages

(3) Body covered with feathers; Aves

skin moist and glandular;

fore-limbs form wings;

lungs with air sacs

(4) Mammary gland; hair on body; Mammalia
pinnae; two pairs of Limbs
121.

not chemically changed by the enzyme.

Chondrichthyes

Which one of the following statements in incorrect?
(1) In competitive inhibition, the inhibitor molecule is

|
|
|
|
|
|
el
|
|
|
|

(2) The competitive inhibitor does not affect the rate of |

breakdown of the enzyme-substrate complex.

(3) The presence of the competitive inhibitor decreases |

the Km of the enzyme for the substrate.
(4) A competitive inhibitor reacts reversibly withthe
enzyme to form an enzyme- inhibitor complex.
122.
paired with its function?
(1) Cerebellum-language comprehension

(2) Corpus callosum-communication between the left |

and right cerebral cortices
(3) Cerebrum- calculation and contemplation
(4) Medulla oblongata - homeostatic control

118.

119.

Which of the following represents the correct| 120.

121.

Which of the following regions of the brain is incorrectly | 122.

Date-03/05/2015

feferRad gmrel # A el gHed &l gy —

(1) fa®=T ER - forfis &1 dveryor

(2) GRERTER — TSP Bl HLATOT

(3) TGRERT ER — a9 3+l T SiTeRATHROT

(4) AT ER — BRWITIUS BT iTaRITHI

firerae & IRR A 786, R R ureds fHaw I e

2?

(1) wfg Sas | (2) wfereRT fEree &

(3) SuRer & (4) Al Mie |

fr=ferRaa & & @19 a1 fodt sryare & W@ dare &t

gfffere dvar 82
eToT it (dr)

(1) e g@; Flmil W Teug 8 bl
AT R DTS e WA
BICEA

(2) Tguh T MATDR I,
STEST BT IFHTE; JTEATARTT
2ebel; Jfad ST

(3) IR WRI I THT Fa;
RIS ERCEDID Tk

AT FARCIHCT

3RS UG 9914 §;
BHS H IYHY B 2

(4) w9 U IRR R IAT BT
B4, fU=T (@oiueera);
CRNIIRCICS

ferfeRad # & ST Toad 872

(1) TEfl HeHT H, HeH® ] GrollsH gIRT RIS Y
q 7E g |

(2) ¥t HeHd USSA—{hamIR (Asigc)—afst &
faeeed (36 SSH) BT UWIfad &1 &l |

(3) it HeHd BT SURAMT Fsge & oIy TolgH & Km
BT HH B T § |

(4) o i HeAd IapAYi w9 | Udh TrollgH & 1T
AT PRSP T TSITSH—ISHD AR 997 2T 2 |

ARk & f=foRaa &= # 9 o4 a1 83 S8 Y &

T e UBR A Hel el Qrdr?

(1) ITARTSD (ATITH)- HTHT FHSTAT

(2) BT DeARTHHERIASTS fUvs)-amt iR ST yHRTshIT
Bicad

(3) vART (RsH)- IREHe & fidq

(4) A SifeAT=IeT - FARRAYA =0T

awferam

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

Contact No : 011-41024601-05

dDTarget PMT

EXCLUSIVELY FOR MEDICAL ENTRANCE

E-mail : info@targetpmt.in

Website : www.targetpmt.in

Page No# 19




Date-03/05/2015

AIPMT-2015/Code #F

123.

124.

125.

126.

127.

128.

129.

Which one of the following statements is not true? I
(1) Pollen grains of some plants cause severe allergies |
and bronchial afflictions in some people |
(2) The flowers pollinated by flies and bats secrete foul |
odour to attract them |
(3) Honey is made by bees by digesting - pollen |
collected from flowers |
(4) Pollen grains are rich in nutrients, and they are used I
in the form of tablets and syrups |

The active from of Entamoeba histolytica feeds upon: | 124.

(1) mucosa and submucosa of colon only
(2) food inintestine
(3) blood only

(4) erythrocytes; mucosa and submucosa of colon

Which of the following viruses is not transferred through | 125.

semen of an infected male? |
(1) Human immunodeficiency virus

(2) Chikungunya virus

(3) Ebolavirus

(4) Hepatitis B virus

A population will not exist in Hardy - Weinberg, 126.

equilibrium if ;

(1) There are no mutations

(2) There is no migration

(3) The population is large

(4) Individuals mate selectively

The guts of cow and buffalo possess:
(1) Chlorella spp.

(2) Methanogens

(4) Fucus spp.

The hilum is a scar on the :

(1) Fruit, where it was attached to pedicel
(2) Fruit, where style was present

(3) Seed, where micropyle was present
(4) Seed, where funicle was attached
Secondary Succession takes place on/in :
(1) Degraded forest

(2) Newly created pond

(3) Newly cooled lava
(

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(3) Cyanobacteria I
|
|
|
|
|
|
|
|
|
|
|
|
|
4) Bare rock |
|

123. fA=foRad & & &9 1 U B Iy 81 2872

1

1

1

27
28.
29

(1) EB UIRHl & WRITHYT, HB AN H TRIR ygoidl AR
AT HE UaT IR B

(2) wfowat iR Tmest & WIfd 89 arel g9 I

(3) @B, HYHRIIT gIRT YoI I SH3T B T WRITHI
BT AT B 1T ST & |

(4) WRETHN # UT BT TR AAT B 7 iR 9 Mo
IR o€dd & w9 H YA fHA 91d 7

UesrdiaT fRelcrsiedT &1 afthd wu fbd IR 9RO ol &

(1) I8<13 & DHad DT AR I A

(2) 3= # fdem™ @rer uared &

(3) dacdt BER A

(4) AT, geai= (S1 3717) B DT (F™0) AR
IR (37T ToI) |

fFrfeiRad o & SIF9T U@ IR I R & 4 & gRT

oS e gran?

(1) &g RS ares

(2) Rrpferar arRY

(3) SaraT ArIRA

(4) TUCTEicH B aRRY

BISIARIAET A | FEfe 81 Uil Syt afg -

(1) ScaRad+ &f & 7

(2) yard &t &

(3) wafe << &

(4) ftet qROMHASB HY A FHET BT

. T IR N @Y emeR Aferat # fa=forRad # & i B 27

(1) AR STt

IREREISER]

(3) ArAgERET

(4) W STferit

ATRT, BB U U T2 BIaT &7
(1) ef, STET 9 g & ST o
(2) e, STEl afdar IuRkerd off
(3) 9w, STt dIoivegR SuRRkerd o
(4) 9, STEI dISITvSgd ST AT

. fe<iae srgmwor @t grar 87

(1) 3rashfid a9 #
(2) T g9 dTeTd H
(3) T TS drar |
(4) 9 TCeM WX
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130.

131.

132.

133.

134.

Which one of the following statements is wrong? |
(1) Agar - agar is obtained from Gelidium and I

Gracilaria |
(2) Chlorella and Spirulina are used as space food |
(3) Mannitol is stored food in Rhodophyceae |
(4) Algin and carragen are products of algae |
The following graph depicts changes in two populations
(A and B) of herbivores in a grassy field A possible
reason for these changesis that:

Number of
Organisns

Time

(1) Population B competed more successfully for food
than population A

(2) Population A produced more offspring than
population B

(3) Population A consumed the members of population
B

(4) Both plant populations in this habitat decreased

Match each disease with its correct type of vaccine:
(a) tuberculosis (i) harmless virus

(b) whooping cough (i) inactivated toxin

(c) diphtheria (iii) killed bacteria

(d) polio (i

@ () (¢ (d
1) (i) (@) ) 0
2) (v) (i) @) ()
3 () (i) (v (i)

(
(
(
@ (i) (@) (i) ()

Which of the following are the important floral rewards | 13

to the animal pollinators?
(1) Nectar and pollen grains
(2) Floral fragrance and calcium crystals
(3) Protein pellicle and stigmatic exudates
(4) Colour and large size flower

An abnormal human baby with XXX’ sex chromosomes | 134,

was born due to :
(1) formation of abnormal ova in the mother
(2) fusion of two ova and one sperm

(3) fusion of two sperms and one ovum

(

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
iv) harmless bacteria |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
4) formation of abnormal sperms in the father I
|

130. fer=forRaa & W &I A1 B Tad 272

(1) STR—3TR Siferfea™ iR URIeIRaT 1 ura far ST &

(2) FARCT R WREAT DI AR WreT & HI | TIANT
fopam e

(3) MBI # Hafdia @rer et gar

(4) tfest IR SR darel & TS &

. f=foRaa o1 v gy A9 ¥ IeeIRAl @ ol

wAfteal (A SR B) # 8 arel uRads! &I §arar 8| g9
IRAGTAT BT AT HROT & fH

Eiciiclie)

Iy

(1) Ao & o) FHAfE A Bl SR FHfE B 1 Atherargdd
[er 2 |

(2) FAfle A Y et FAfe B 7 31fdes Hafadl Saa= @ |

(3) Afe A @) 3Uet AR B & ASRAT BT SUHNT R
foram |

(4) 39 9OTANT § <1 Uy Hftedt ge T € |

. UAD T P AT SID el YR b R Bl Hersy

(a) qufe®d () eIfRfRT aRA
(b) HHERT (i) 3rpfdra o=
(c) fSuweiiRar (iii) AR T SFERar
(d) diferat (v) sIFRRET dFSIRan

@ M) () (d
1) (i) (i) v) ()
2) () (i) (i) @)
3 () () (v) (i)
4) (i) @) (i) ()
frferiRad # | BF, S AR & forg g uferhet
g1?
(1) #ERG IR WRRTH]
(2) g1 G 3R dicerad fhdea
(3) UIEI dg<ad 3MR i f4:3=rarg
(4) T BT 7T 3IR < qiRAToT
H® BT Ueb g Uar gafl form fefiT—qoRga XXX o |
Ig fbst BT g3
(1) Hf # JUAHRI SR & T B BRI
(2) a1 T3 & AN & YEHIY[ & HAAT & BRI
(3) T IASTULAT b T I YePIY D HAIT B PR
(4) T ¥ AT YHIV[HAT & T B HIROT

(
(
(
(
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135. Transpiration and root pressure cause water to rise in I 135.
plants by : |
(1) Pulling and pushing it, respectively |
(2) Pushing it upward |
(3) Pushing and pulling it, respectively |
(4) Pushing it upward I
|

qreiciST 3R HeTerd, ureul § Wil &I &Y G |
(1) 3 HHI: Wig HR IR TaHT D

(2) U IR B AR IIFBT THY

(3) S HHL: TFHT TIPR AR FIFdR

(

4) T SR B 3R Hiads

" PHYSICS |

136. An electron movingin a circular orbit of radius r makes | 136.
n rotations per second. The magnetic field produced at |
the centre has magnitude :

|

pnze |

(1) Zero @ == |
|

Kone Kne |
S 2r “) 2mr |

137. One mole of an ideal diatomic gas undergoes al 137.
transition from A to B along a path AB as shown in the
figure,

|
|
|
|
|
|
|
|
|

The change in internal energy of the gas during the |

transition is : |

(1) =20 kJ I

(2) 204 |

(3) —12kJ |

(4) 20kJ |

138. When two dispalcements represented by y, = a sin(wt) | 138.

and y, = b cos(wt) are superimposed the motion is : I

|

|

|

|

|

|

|

|

|

|

a
(1) simple harmonic with amplitude b

(2) simple harmonic with amplitude /52 4 p2

(a+b)
2

(3) simple harmonic with amplitude

(4) not a simple harmonic

35T r & qATBR HET F TR BRAT GIAT Th Soldel, Th
AHS H N TFHR A © | Y D R I~ JHED
& BT :

(1) ¥ @ =
pone Hne
® o @ o

T e fgURATS 19 1 JidT &I, AB AR & 3rfaT,
A¥ Bdd AHH B |

3 THHU B SRIF KT DI M<IRB Holl § aRad= 81T
(1) =20k

) 20J

(3) —12kJ

(4) 20k

gl faRerosl, y, = a sin(ot) T2y, = b cos(ot) &
JIEIRIYOT H e gROTHT I7fa:

(1) %Wﬁ,wmvﬁsﬁ‘cﬁ%‘l

(2) a2 +p? M B, TR AT TR B 2 |

3) @Waﬁ,wmvﬁsﬁ?ﬁ%‘l

(4) R 3mad &l B ¥ |
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139.

140.

141.

142

143.

144.

A particle of unit mass undergoes one-dimensional | 139, Udhih GATE & Bl HUT UH R TTfd drar g iR

motion such that its velocity varies according to |
v(x) = px 2 |
where 3 and n are constants and x is the position of |
the particle. The acceleraion of the particle as a function |
of x, isgiven by : |
(1) —2npa4n-1 (2) —2p> 2
(3) —2npZe™m @4) —2np>x2"

|
|
|
If radius of the i Al nucleusis taken to be R, then the | 140.
radius of 12°Te nucleus is nearly : |
|
5 3
(1) 3Ra @ gRa :
1 1 |
13 )3 53 )3
3 || R 49 |=|R |
o(Efn e (s
In a double slit experiment, the two slits are 1 mm | 141.

apart and the screen is placed 1 m away. A
monochromatic light of wavelength 500 nm is used.
What will be the width of each slit for obtaining ten
maxima of double slit within the central maxima of
single slit pattern?
(1) 0.1mm

(3) 0.02mm

(2) 0.5mm |

(4) 0.2mm

For a parallel beam of monochromatic light of wavelength | 142.

V', diffraction is produced by a single slit whose width |
‘a’is of the order of the wavelength of the light. If ‘Dis |
the distance of the screen from the slit, the width of|

the central maxima will be : |

DA Da |
(1) & (2 -~ |
2Da 2D |
® 5 @ 5 I

Across a metallic conductor of non-uniform cross section
a constant potential difference is applied. The quantity |
which remains constant along the conductor is :

(1) current (2) driftvelocity

(3) electric field (4) current density

R, it was found that intensity of violet color is maximum
in the spectrum of P, the intensity of green colour is
maximum in the spectrum of R and the intensity or red
colour is maximum in the spectrum of Q. If T,,, T, and
T, are the respective absolute temperatures of
P, Q and R, then it can be concluded from the above
observation that :
(1) Tp>Tg>T,

@) Tp<Ty<Tg

(2) To<Tg<T,
@) To>Ty>Tg

|
|
On observing light from three different stars P, Q and I 144.
|
|
|
|
|
|
|
|

gq@T O fifhd | & rfaR uRafdd gram = -
v(x) = px2

TRt p e n Reries & ar x &1 o) Reafa 8| 1, g9 o
B TR B, X B Hed & U H oid far ST daar g |

(1) —2nBzx'4”'1 ) _232x—2n+1

(3) _2n326—4n+1 (4) —2nBzx'2”'1

gfe Z Al & =TS B BroarR, &8 2°Te TWd &
e grfY o

5 3
(1) ERA, 2) ERA,
® (] R, @ (SR,

et fg f3r0 v #, <1 iRl & §/ 31 g0 1 mm g 3iR
URET IR 1 m §X X1 AT 8 | 9 Tebaoll Yebrer b1
TR 500 nm B | IS 3R 1 drerg fbae g, afe
Thd Rere (BR)) ted & owg Sfeas # f5 B3R & <4
(10) Sfeass urst & F&6?

(1) 0.1mm (2) 0.5mm

(3) 0.02mm (4) 0.2mm

fodl Ut f3RY (Rete)deTE ' Uarel @ aRaTaed &l BIc
o 2| 39 R W, dreed o) uhavi udTer @ AR
fopeor ot amufad B ¥ fad= S gar 7 | afe 3 |
9 B D’ EL A g Sfeaws @ drerg gl

DA Da
(1) & (2 -~
2Da 2DA
®) = @ =

AT URTIT (AICTS) & oTg & bl A1t dal R &
a1 ve ReR favmarR sRIfUd fosar Sirar 2 | 9 araid &
SrfeT St <3y sRRafia <& a8 &

(1) faga ar (2) 3yarg 9

(3) faega &= (4) &1

A4 fAf=T ARIP, Q@A R, & YTl o e =1 gall
b 9P UPBTe B WeH F ffSHad dradm I P, H S,
R¥ &R daTQ # T T & U1l &1 § Ife, P,Q TR
@ ORH A9 HA: T, Ty TAT T € I, SURIKT YeToli I I8
gRoma fbTar ST |dar & fob:

(1) To>Tr>Tq

@ Tp<Tr<T,

@) Tp<Ty<Tg @) To>Ty>Tg
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145. A potentiometer wire has length 4 m and resistancel 145, A drefereRr (f@vaamd) & R & aw1E 4 m 2 3iR

146.

147.

8Q. The resistance that must be connected in series|
with the wire and an accumulator of e.m.f. 2V, soasto |
get a potential gradient 1 mV per cm on the wire is : |
(1) 400 @) 440 |
(3) 480 4) 320 I

Consider 3" orbit of He" (Helium), using non-relativistic | 146.

approach, the speed of electron in this orbit will be|
[given K= 9 x 10° constant, Z = 2 and h (Planck’s|
Constant) = 6.6 x 107>*J g I
(1) 1.46 x 10° m/s |
(2) 0.73 x 10° m/s |
(3) 3.0 x 108 m/s I
(4) 2.92 x 10° m/s :

A wire carrying current I has the shape as shown in|
adjoining figure. Linear parts of the wire are very long |
and parallel to X-axis while semicircular portion of radius |
Ris lying in Y-Z plane. Magnetic field at point O is: |

>Y

147.

P! AfoRT 8Q 7 | 39 H 2100 A H 2V fagd aesd 9o
BT T FaTddh Aol 9T T UfoRIEd Siiel 77 8 dife 59
TR R fa9g gaorar 1 mV ufd IEex 81 9 1, 39
gfeaRIerd BT Ui 21

(1) 400 (2) 440

(3) 480 4) 320

ARSI ST & IUANT |, Blfergd He™ &1 oy
DT H, goldgl= B aral B8R0 [fRar 8 K = 9 x 10°
ReiRTd, Z = 2 qAT h (AT ReRi®) = 6.6 x 1074 J 5]

(1) 1.46 x 10° m/s
(2) 0.73 x 10° m/s
(3) 3.0 x 108 m/s

(4) 2.92 x 10° m/s

T TR BT ATHR T NG H ST 747 2 | S [ &I1_T
Fa1fed 81 I8 8 | IR & V&I 9T 98d o 8 3R X-37eT
S AR © | IR $T 37 JATdR 9N Y-Z F9dd 4 & 3iR
9 9N @ oA RE | @1, O g R galy 63 &
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148. Which of the following figures represent the variation of | 148. forerifea % & = e, fell &7 & AT qAT g

149.

150.

151.

particle momentum and the associated de-Broglie
wavelength?

A parallel plate air capacitor of capacitance C is
connected to a cell of emf V and then disconnected
from it. A dielectric slab of dielectric constant K, which |
can just fill the air gap of the capacitor, is now inserted |
in it. Which of the following is incorrect ?

|

|

|

P P |

t t |
(1) 2) I
— ) — ) |

|

|

p p |

t t I

3) 4) |
— ) —> ) I

|

|

|

(1) The energy stored in the capacitor decreases K
times.

1 1
(2) The change in energy stored is ECVZ [R - 1)

(3) The charge on the capacitor is not conserved.
(4) The potential difference between the plates
decreases K times.

The fundamental frequency of a closed organ pipe of | 150.

length 20 cm is equal to the second overtone of an|
organ pipe open at both the ends. The length of organ |
pipe open at both the ends is :- |

(1) 100cm (2) 120cm |

(3) 140cm (4) 80cm I

The refracting angle of a prism is A, and refractive index | 151.

of the material of the prism is cot(A/2). The angle of |

minimum deviation is :-
(1) 180°—2A I
(2) 90° -A |
(3) 180° +2A :
|
|
|

(4) 180° - 3A

T—axTeed & gRadH bl T 82

P p
t t
(1) )
— ) — )
P p
t t
(3) 4)
— ) — )

il FATR—ufg T HenlRa o eaRar C 2| 39 Ugal V
foga are® a1 & el WSl o4 &, AR R A BI 8T
foram SITar & | 39 ueEnq SR 3l |1 ufedreli (wieh) &
dra & oI PI, Y URIAEd Uared & g (Ug) I IRT /R
o S 2 | 39 uered & WgdiE K 2 | 39 |9URE &
forg fm=forRaa & & -1 Foe 98 781 22

(1) SR # wfed Soft K AT & 8 S 2 |

K

(3) HeNRA TR ST BT ARETOT &I BN |
(4) a1 wIel (afgwrall) & dr favarR K A1 &4 81 ST

&
20 cm W ¥ w1 31T UTgy (AfeTehT BI Fe) 3gf,
TEF RRT R gefl foel aforar & fadia aifdazae &
JATGRT & IRIER B | Al $9 el ATl BT T TS o
(1) 100cm (2) 120cm

1 1
(2) <iferd Soft # aRacd= ECVZ[——1JgﬁﬂT =1

(3) 140cm

fot fsH &1 smuadd ST A, § 3R 9@ ucred &
JruadHid cot(A/2) B | 39 o & ford <gAaw fages
BIOT BITT |

(1) 180° —2A
(2) 90° A
(3) 180° +2A
(4) 180° — 3A

(4) 80cm
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152. Which logic gate is represented by the following, 152. fr=ifda el (RY) &1 WA fd e &I wiUd FHRar

153.

154.

155.

156.

combination of logic gates ?

(1) NAND

( Ao >

(3) NOR Y
(4) OR By

|
|
|
|
2) AND I
|
|
|
|

1
A Carnot engine, having an efficiency of n = - as heat | 153.

10
engine, is used as a refrigerator. If the work done on |
the system is 10 J, the amount of energy absorbed |
from the reservoir at lower temperature is :- :
(1) 99J (2) 90J |
|

3 1J (4) 100J |

A certain metallic surface is illuminated with| 154.

monochromatic light of wavelength, A. The stopping
potential for photo-electric current for this light is 3V,
if the same surface is illuminated with light of wavelength |
2), the stopping potential is V. The threshold |

wavelength for this surface for photoelectric effect is : |
|

A A
(1) 4% @ 7 B) 5 @6a |

A radiation of energy 'E' falls normally on a perfectly| 155.

reflecting surface. The momentum transferred to the |
surface is (C = Velocity of light) :- |
HeT @z Oz @g

A mass m moves in a circle on a smooth horizontal
plane with velocity v, at a radius R,. The mass is
attached to a string which passes through a smooth
hole in the plane as shown.

The tension in the string is increased gradually and

' : : . R '
finally m moves in a circle of radius 70 . The finalvalue

of the kinetic energy is :-

1
(1) vag 2) 2 mv2

(4) mvg

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
1
(®) 5mvi :
|

AIPMT-2015/Code #F
27
(1) NAND & Y,
(2) AND ¢
(3) NOR B -
(4) OR :

WWZ%Wﬁ,ﬁﬂﬁmmaﬁa’mn:%%l

BT ST BT Yded so= & wU § fbar wirar g | afe
erT u= fhar a1 RI10 J © 41, el 99 R ReRarR

(®S) I SMARNT FHoll BT AT BRI
(1) 99J 2) 90J
3) 1J (4) 100J

i a1g & IS (|as) B, A AT & Uhavll YHrer |
RIS BT ST 2 | §9 YT T UhTe—{degd &R & o,
AR favrg 3V, 8 | 330 U 1 2 aRIQE B Ul B
geTed bR IR R fav9a V ® | a1 gdrer—fagd wHra @
foRI 39 g @1 <@l gy Bl

)
mar @5 @ ¢ @en
'E' Sl B fAfhRor fBH Quid: WRTeacie I8 WR fierad
3MUferd BIT 2 | If (C = YebTRT T ) BT @, 39 TS Pl
RIFIRT HHT BT :

2E 2E E E
(1) 3 (2) o ) o (4) c

. M SN BT U fUs (a3q), R, FBroar & vy # bt et

&S e & HW v, I I Y FR I3 2 | T8 s vH
SR () I T 7 | T8 SN WATSA R 99 U e fos
A B TORaT § O S IR # <eIfar T ¥ | 39 R
TR TG BT TR—ER 9RIT STl 2 |

&

o o 3 A fie m, %ﬁmﬁﬁfﬁwwwvﬁ

BN oIl 2 | Y, TTforsT Soll T J1f~aq A1 B

1
(1) vaﬁ 2) 2 mv?

1
@ 5mvi @ mv:
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157. Two identical thin plano-convex glass lenses (refractive | 157. <1 \c, \ade—S<el oidl # eid &1 qad=ic 1.5

158.

159.

160.

161.

index 1.5) each having radius of curvature of 20 cm are |
placed with their convex surfaces in contact at the |
centre. The intervening space is filled with oil of refractive |
index 1.7. The focal length of the combinationis:- |
(1) =25cm (2) -50cm |

|

(3) 50 cm (4) —20cm

A block A of mass m, rests on a horizontal table. A| 158.

light string connected to it passes over a frictionless |
pulley at the edge of table and from its other end another |
block B of mass m, is suspended. The coefficient of |
kinetic friction between the block and the table is p,. |
When the block A is sliding on the table, the tension in
the string is :-

|

|

(mz _P-km1)g m,m, (1+Hk)g |

(1) (m, +m,) (2) (m, +m,) I
mm, (1_P-k)g (m2+“km1)g I

®) (m1 + mz) @ (m1 + mz) |

A particle is executing SHM along a straight line. Its | 159.

velocities at distances x, and x, from the mean position |
are V, and V,, respectively. Its time period is :- |

|
2 2 2 2
X; — X; Vo +V, |
O v @ 2k |
|
V72 - V? X2 +x3 |
2 1 2 2 1 2
() =" X2 —x3 (4) <" V? + V2 |

A ship A is moving Westwards with a speed of 10 km | 160.

h™" and a ship B 100 km South of A, is moving
Northwards with a speed of 10 km h™". The time after
which the distance between them becomes shortest,
is :-

(1) 5h

3) 10 2 h

|
|
|
2 52 h |
@) 0h I

A rod of weight W is supported by two parallel knife 16

edges A and B and is in equilibrium in a horizontal|
position. The knives are at a distance d from each other. |
The centre of mass of the rod is at distance x from A. |
The normal reaction onAis :- |

|

m 22 @ M) l
|

W (d-x) Wx |
3) g @ 4 |
|

TAT GAb B1 asheT F39a1 20 cm B | ST 39 TbR T
AT 2 fh 979 S U8, e W, U GER b HUSD H 2 |
T ol @ I @rett (Rad) %+ &1 1.7 siaddies &
Tl R 37 7 2 | 39 YHR I AT Dl Bihd 10
ﬁ;ﬁ—%cm (2) -50cm

(3) 50 cm (4) —20cm

T b (sdeh) 'A' T Segd m, € | I8 Ueb &ifaroT Aol IR
G | 39 A & fhAR R U g¥ude forel orft ],
T SR I Jokall 85 Sl [RN) BT Uh RRT'A'H
ST 2 | SR & AR RR A m, 91 &1 U 3 (b
B T B | &ifdh (Teb) T 9l & §1 i = oriss
p el A R e (Tebn) 'A' fhaad a9a S’ A
TG BT A BT

(1) (m, +m,) (2) (m, +m,)
mym, (1_P-k)g (m2+“'km1)g
(3) (m, +m,) (4) (m, +m,)

i, T A @1 & AW AR 3rad il PR 8Y
5l ®o1 @1 0 g g A x, TATX, BN W, SHD T
AV, TATV, 8 A1 90 BT Bl JATdcieblel B

2 _ X2 V2 + V2

2 2 1 2 1 2

(1) <" V2 _\2 (2) <" XZ —x2
V7 - V? X2 +x3

@) 2 X2 —x3 @) 2 V? + V2

U STeroT'A' 10 km b & 1ot 3 ¥ fem & 3iR i e
@I & | T 3= e 'B' 39 SeTA Y 100 km o fiRem #7
3R 10 km h™" &1 a1eT W SR a1 & 3R ST 8T 8| 5 SFi

g1 A QA fae T & T AT BT SRR |
(1) 5h 2 52 h
(3) 10 /2 h @4) Oh

Uh BS BT IR W © | I8 &I FAR GRURI (ATSHUS)
ATATBWR Rl 2| 3R &firet araxen # dgerd # 21 Afk
ATATB & 919 &I g1 'd' § TAT BS BT GIHH s AY
X W 7 I, A IR e wfdfshar &1 A4 8

W (d-
0 % @ *
W(d—x) Wx
3) g 4) a4
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162. The approximate depth of an ocean is 2700 m. The| 162. A HERITR & TTERTS ST 2700 m B | STel &1 dreadn

163.

164.

165.

compressibility of water is 45.4 x 1 0" Paand density |
of water is 10° kg/m3.What fractional compression of |
water will be obtained at the bottom of the ocean? |
(1) 1.0 x 102 2) 1.2x 102 |
(3) 1.4 x 1072 4) 0.8x 1072 |

Two particles of masses m,, m, move with initial | 163.

velociteis u, and u,. On collision, one of the particles |
get excited to higher level, after abosrbing energy . If |
final velocities of particles be v, and v, then we must
have:

(1) %m1u12 + %mzug = %m1v12 + %mzvg -&

@) %m1u12 +%m2u§ —g= %m1v12 +%m2v§

3) %mfuf , %mgug re= %mfvf , %mgvg

(4)
Kepler's third law states that square of period of|

revolution (T) of a planet around the sun, is proportional |
to third power of average distance r between sun and |
planet
e T2=Kr

here K is constant.

If the masses of sun and planet are M and m

respectively then as per Newton’s law of gravitation
force of attraction between them is

|
|
|
|
|
|
GMm |
|
|
|
|
|

2 2 2 2
miu, + MU, —& = M;V, + MV,

F= z here G is gravitational constant.

The relation between G and K is described as :
(1) GMK = 4n?
1

2) K=G

@) K= 4) GK = 4n?

G |

A block of mass 10 kg, moving in x direction with al 16s.

constant speed of 10 ms™, is subjected to a retarding |
force F = 0.1 x J/m during its travel from x = 20 m to
30 m. Its final KE will be :

(1) 450
(2) 275J
(3) 250
(

|
|
|
|
|
|
|
4) 475 |
|
|
|

164.

454 x 107" pa~' & | dor st T 10° kg/m3R | @
HENRINR &1 doll UR STl BT Aurs 3737 8I?

(1) 1.0 x 1072 2) 1.2x 1072

(3) 1.4 x 1072 4) 0.8x 1072

a1 BUI & ST HAI M, TAT M, & 9D IRMS T
HHY: U, TAT U, 8| TP & TTAR| Ub DU ¢ ol
ST PR IJedeR W T ST 81 Il © | AfX Holf
@ AT T HAIA: v, TATV, B AT :

(1)

L L A U B
—m,u; + —m,u; = —Mm,V; +§m2v2 -g

2 2 2
@) %m1u12 + %mzug —g= %mwf + %mzvg

()

1 2 .2 1 2.2 1 2,2 1 2,2
§m1u1 +§m2u2+a=§m1v1 +§m2v2
)
DR A M & AR, GI BT URPFR B gY bl
g BT YRHAY BT (T), G IR SF U & 919 Bl 39d
Q1 31 el BTG B FAUI I 2

grafq T2=Kr®

STel, K 7 Rekiad 2

IS A TAT U8 & SIAH B M AATm € I e &
ATV 99 & AR $77b 41 [cdIHYl I Bl
il

2 2 2 2
mju, + MU, —& = M;V, + MV,

F=Ggm,aﬁemﬁmm%,aﬁ

GaAK P &I Hae ¢ :

(1) GMK = 4x° ) K=G
_1 _ 42

B) K= g 4) GK = 4rn

10 kg S BT T [T (sATdH), x-Fa2m & 10 ms™'a
ReR a1 | 710 AR @7 2| 39D x =20 m ¥ 30 m qP
P AT & SR, 39 W Udh Hed g, U, ST ST 2 |
9 TS B 3ff~aH TSt ol BRI —

(1) 450 J

(2) 2754
(3) 250 J
(4) 475
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166. A wind with speed 40 m/s blows parallel to the roof of a | 166. Tdh WA &) B BT 8B 250 MR | 3P SHW 3N sTD

167.

168.

169.

house. The area of the roof is 250 m?. Assuming that |
the pressure inside the house is atmospheric pressure, |
the force exerted by the wind on the roof and the|
direction of the force will be : |

(b, = 1.2 kg/m®) |
(1) 4.8 x 10° N, upwards :
(2) 2.4 x 10° N, upwards |
(3) 2.4 x 10° N, downwards |
(4) 4.8 x 10° N, downwards I

Two spherical bodies of mass M and 5 M and radii R| 167.

and 2 R are released in free space with initial separation |
between their centres equal to 12 R. If they attract each |
other due to gravitational force only, then the distance |
covered by the smaller body before collision is :

(1) 45R ) 75R
(3) 1.5R @) 2.5R

A resitance ‘R’ draws power ‘P’ when connected to an | 168.

AC source. If an inductance is now placed in series
with the resistance, such that the impedance of the
circuit becomes ‘Z’, the power drawn will be:

(1) Pé
R
) P(g)

(3 P

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
@ P[ET |
z |
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|

The ratio of the specific heats CP = v in terms of | 169.
\Y

degrees of freedom (n) is given by :

(1) [1+§j
@ (1+2)
3) 1+2j
(

|
ofrd

n

FATR 40 m/s @ AT Y9 (@) =t 381 2 | IS 9a

% IR <6, IIgHSHI &T9 & aRI6R © dl, /e &l Bd W)
Uq §RT SR el BT AH d D! QT A B0

Parg = 1-2 kg/m?®)

1) 4.8 x 10° N, SR &1 3R
2) 2.4 x 10° N, IR FI 3R
3) 2.4 x 10° N, I &1 3R
(4) 4.8 x 10° N, I &1 3R

T MAThR el & S HHer M a2 5 M e g=a!
g shHer RAem 2 R € 1 37 Q141 &l g 3MTebrer H el
12 R 2| AT A Sl Th—gAR Bl Dael [HeAIbYI gl
ERT 3MHMNT FRd © I, I 3 g4 (T8t 8IS fife grr

(
(
(
(

TI B TS 2 Bl
(1) 45R ) 75R
3) 1.5R 4) 25R

fl AC (Ul) a9 Siied W Udh Uk 'R gRT P!
I1faT & Sl ® | afe 39 ufoRer & ooft 3 H, U IR
Strewt & uRuer &1 ufcramer ‘22 &1 S, 8, ar o T8 oifad
B ST

oe(S)
@ Pl

s dife (n) @ gal #, fhdl i1 @ a1 fafdre ol &

Ce
SO, A 5 =y B AN EAT

o (1]
@ (1+2)
3) [1+2j
o)
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170. Figure below shows two paths that may be taken by a; 170. I&f IR@ # &I AR Ty T & Ned gRT fod) 39 &t

171.

172.

gas to go from a state A to a state C.

|
|
|
|

A
lt |

B C

6x10" Pa > I
i 4 |
|
A |
2x10" Pa | |
é><10'3 mgl 45107 m® > |
v |
|

In process AB, 400 J of heat is added to the system |
and in process BC, 100 J of heat is added to the|
system. The heat absorbed by the system in the|
process AC will be : |
(1) 500J (2) 460J |
(3) 3004 (4) 380J

|
If energy (E), velocity (V) and time (T) are chosen as| 171.

the fundamental quantities, the dimensional formula of |
surface tension will be : |
(1) [EV'T7

() [EV?T7

@) [EAV T

(@) [EV2TT]

If in a p-n junction, a square input signal of 10 V is
applied as shown,

+5V

-5V [, O

then the output across R will be :

10V
™ | ‘ @) | |
-5V
5V
3) ’ | )
-10V

|
|
|
|
|
|17
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

IR A ¥ 31T C ddb of ST Sff Fahall 2 |

A
f
P B e
610" Pa >
I A
A
210" Pa F
2x10° m° 4x10° m®
V=

P AB, UshH § 400 J 92T UshH BC § 100 J &1 &7
ST © | @1, WshH AC ¥ fara gIRT Sraenfyd T 811 —

(1) 500J (2) 460J

(3) 300J (4) 380J

afe ot (E), I (V) T 93 (T) BT 7t IRRAT 7191 51
a1, gsara &1 e gnft —

(1) [EV'T7]

(2) [EVT7]

@) [E2V T

(4) [EVT]

81 TR T ITFAR T p-n Wi TR 10V &7 U ot T
b AT T 2 |

+5V —> o
------------------- R,
-5V o o
AR & RRI W el gem

10V
™ | ‘ @) | |
-5V
5V
3) ’ | )
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173. Three blocks A, B and C of masses 4 kg, 2 kg and 1 kg| 173. 9 ﬂe—cr} (sAf@) A, B A1 C 3T # fewr IER,

174.

175.

176.

respectively, are in contact on a frictionless surface,
as shown. If a force of 14 N is applied on the 4 kg|
block, then the contact force between Aand B is :

——VA BYC

(1) 6N
(3) 18N

@) 8N
4) 2N

A, B and C are voltmeters of resistance R, 1.5 R and
3R respectively as shown in the figure. When some
potential difference is applied between X and Y, the|
voltmeter readingsare V,, Vg and V respectively. Then: |

)
® I
X O Y |
© |
|
|

(1) V, = Vg=V,
(3) Vp, # Vg # V¢

() V,=Vg # Vg
@) V,=Vy=V, |

Three identical spherical shells, each of mass m and | 175.

radius r are placed as shown in figure. Consider an|
axis XX’ which is touching to two shells and passing
through diameter of third shell. |
Moment of inertia of the system consisting of these|
three spherical shells about XX’ axis is :-

X

-
(1) 3mr? @) 1?mr2
(3)4 mr? 4) gmrz

The electric field in a certain region is acting radially| 176.

outward and is given by E =Ar. Acharge containedina|
shepere of radius ‘a’ centred at the origin of the field, |
will be given by : |
(1) Ag, a° I
(2) 4 ne,Aa’ |
(3) g,Aa° |
4) 4 n e Aa’ I

|
|
|
|
|
|
|
|
|17

Th—gIR @ qD H € | §78 U "yl Xfed I (|clE) R
RGN T 2 | IS el & GAM HA: 4 kg, 2 kg TAT
1kg© 3R 4kg® I (A) TR 14 N BT g1 AT 11
g dlL AT B & da SR d dcf 81T ¢

—VAXR c
(1) 6N 2 8N
(3) 18N 4) 2N
Bl 3G H o dlecHleR] A, B e C & UfaRIer e
R, 1.5 RTAA3RE | XTMY & 919 {B forar=iR smRIfa
&R ¥, 37 dleeHieR] & gad (AfSm) V,, Vg @V & | ar

(B)
&
—O— —
X Y
O

(1) V, = Vg=V,
(3) Vpy # Vg # V¢

() V,=Vg # Vg
@) V,=Vy=V,

O FaaH el SN (@RIl el) H Iddh Bl GTH
m 7T FaTr 8 | 32 IR H S0y T SR T 1T
21 XX US 3MeT &, Sil &I TMelig DI b W2l HRal g AR
AR & 2 /7 BIR o 8 | Al XX 3187 & giRat: g <
Mg BIRN & BT BT TS AT BT -

X

-
(1) 3mr? @) 1?mr2
(3)4 mr? 4) gmrz

el yder (vere) # fagd &7 ol (Frsw) © ofik swa
faem 9rER @ 3IR B, TAT 3ABT A E = Ar ¥ fAefa faar
ST & | U WY et R ey 337 'a' ® &Ik forqer v
=9 faggd &3 & Hol fd=g WR 2, A9 BT AT B
(1) Ag, a°

(2) 4 ne Aa’
(3) g,Aa°
4) 4 n e Aa’
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177.

178.

179.

180.

The two ends of a metal rod are matainted at |
temperatures 100°C and 110°C. The rate of heat flowin |
the rod is found to be 4.0 J/s. If the ends are maintained

at temperatures 200°C and 210°C, the rate of heat flow |
will be : |
(1) 16.8 J/s (2) 8.0J/s |
(3) 4.0J/s (4) 44.0J/s |

Two similar springs P and Q have spring constants | 178.

Ky and K, such that K, > K. The are stretched, first|
by the same amount (case a,) then by the same force |
(case b). The work done by the springs W, and W,
are related as, in case (a) and case (b), respectively :
(1) W =Wq; Wy =W,

(2 Wo>Wo,;, Wo>W,

(B) Wp<Wq; Wo<W,

@) Wo=Wq; W, >W,

A conducting square frame of side ‘a’ and a long straight
wire carrying current I are located in the same plane
as shown in the figure. The frame moves to the right
with a constant velocity ‘V’. The emf induced in the
frame will be proportional to :

—rV

1 _ 1

(1) (2x—ay @ 2x+ay
o 1
©) (2x —a)(2x +a) (4) X2

A particle of mass mis driven by a machine that delivers
a constant power k watts. If the particle starts from
rest the force on the particle at time tis:

(1) Mt_%

) Jamkt 2
3) %Mt_% @) %kt_;

a o

177.

179.

180.

B we & 1 RRI @ aral & AT 100°C @1 110°C R
RGT ST &, o7 B | &1 &7 Ya1g 4.0 J/s UrT ST
2| afe 37 RRT & ardi &I A 200°C T2A1210°C W T
ST A7 ST YaTg 8

(1) 16.8 J/s (2) 8.0J/s

(3) 4.0 J/s (4) 44.0 J/s

T U® A HHE P G2 Q & AT ReRIdG o
Kp SR K 8 3R K, > Ky, | 52 AR (‘a" Reafay #) 311 @
A TS | dT SRR AR (‘o' R #) 994 a1 | e
SITAr 8 | Ife 39 S BTl gRT fRY Ty B e
W, T2 W, & dl Rerfer (a) o (b) 9 3@ & s
e B

(1) Wp=Wq; W= W,

(2 Wp>Wq Wy >W,

(B) Wp <Wq; Wo<W,

() W= Wq; W, > W,

‘a’ oIl BT Y DR TS WA AT [ FRTATS! Geb oIl
A AR, TR # TR T 3R U &1 §Addl 5 2 | I8
HH TS 3R Bl U ReR ATV’ | T BT & | 399 BH
H YRS fagd ar8e de1 FHTURIT BT -

< X
| §
—F—V
1 _1
() (2x—ay @ (2x+ay
o 1
3) (2x —a)(2x +a) (4) X2

'm' TFEM B UH B B Th 7 grRT o fhar
(TreTTan) ST <& ® | afe 539 7efe 9 ReRr wifda k dfe § @ik
I BT FARTH AR & AT URT HRAT & o, 't THI TR
P TR T BT

(1) \/Ht'%

@ omkt 2
3) %Mt'% %) %kt_;
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